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Which of the following is/are correctly matched?

I Hard resin - Cocaine

II.  Oleoresin - Canada balsam

III.  Latex e Rubber

IV. Alkaloid - Asafoetida

(A) Tonly o & 11 and 111

" (C) 1only M) TandIV

£é-§;&aﬁtLeuﬁ)ga%r orgl/ ereneu aflwmen QU ESs1D?

L Gig a5 Gyl —  Qsrssmlan
CIL gdurCyflen —  sermumgn
III. Gen @i &av — goUf
IV.  ydsamiu® - GupRIsTWILD
A Twl@o - (B I opmi 11

(C) I Lm'_@@ - O TwigdIV

Which one of the fDIlov;ring statement(s) about Blue Green Algae (BGA) isfare not correct? .
(A) They are gram negative- photosynthetic cyanocbacteria
(B) They have survived for about 3 billion years
(C)  Spirulina is the edible form of BGA
). Sargassum belongs to BGA

* Sleeumeueteuhmiet eTeney HaliusburlenwF FTyrgeaneu? '
(A)  Aymd Apsrsy gafeGaiemaulian Seoliusburd
B) 3 ladhuen pyamphsmms sunggsuél _ 3

© svenu@adlenT 2 ae) uenEME FTTHS faoviusourdl

D) gisrsd folusdUuTS uamsmws STTHSE -
L)

The chromonema is a coiled structure, which can be easily separated in case of

(ﬁ(ﬂ . Paranemic coil (B) Plectonemic coil
() Chromonemic coil . (D) Telonemic coil

&Cymonalon GeTugl G FHET S@LLUTGLD. Geng aaigns ANULE g
(&)  urpreidés s(mer (B) YGaaCLnefifls smmer
©) ECrmorefliis smer s D)  Corallls smer
'3 : © GS17
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(B) Brownian motion and special theory of relativity

In 1905, Albert Einstein (iiscovered
(A) .Photoelectric effect and Brownian motion

(-Qﬂ Special theory of relativity and photoelectric effect
(D)  Photoelectric effect, special theory relativity and Brownian motion”

19056 g @UTL gaeiy e SamHiilyssemae
(A)  gelben eflenarey whpid 19@ramailen Guidsib
(B) QQperefllen Quidsd whpb Sy ermy dandens

(C)  &pdy sriy Geraens wHmid paflblen sllenene;
(D) geflflen flavenay, Api | s dardies bHmn 9Eraraila @uasn . ; . '

1. Dyna-mic lift of aeroplane is based on the principle of Bernoulli’s theorem.
(Glass is less elastic than Irubber. _

3. For a system free from external forces, linear momentum of the system remains
constant :

. Which of the above statement is/are wrong?

&) @ only . (B) Both (2) and (3)

(C) ((B)only ) (D) Both (1) and (2)

1. cllworamnd GCuGea srpbLaig). Guiamelen CSPDEMS 3l LI WTES GErarT() 2 deng.

2. sawammguien B Al sereno Griumy o9l Genpey.
3. GmeﬂsﬂmaﬁgLULng @ sevwlfler Goi o hgtb g el @b,
Culw Rairar S LkisaRa T DA GTEDE FEUDTENIE?

@ @uipd B (@) opgid (3) GranGio
© (3 wied L D) (1) oppis (2) Greandus

A rocket 100 m long at rest starts to move with uniform motion of 0.8 C. What is its length -

" as seen by an observer at rest?

GS17

&Y 60cm : (B) 80cm
(€C) 100 cm D 0

floasimesblurs 100 m ferp QsrerL gréGs, 0.8 C Caussgien G&wgum(ﬁur@ ;Elma)u_:rrm
ufrepeuLInaTT SiSean Sarsdaean erbs m;ﬂuurrs SlemellReur?

&) 60cm - (B) 80cm
(C) ~ 100 em . D0

Click here to Visit >> www.govtjobsnet.com




=1

Which of the following has the highest ionizing power?
(4) . Xerays (.BG] Alpha rays
(C) Betarays ) . (D) Gamma rays

Qemeumelesieudmer aTagy) Ea|D S swren Swelurs@n Fner Camer g ?
A) Xsdlisdr - (B)  syeur sdlisar
(C) ASlorafirgar (D) smworsdrsd

Sound waves from a sounding car are .
(A) transverse waves - i (B{, longitudinal waves

{C) ultrasonic waves . (D) stationary waves

@aﬁiggjés Qarawriq HEELL srilalmbs aumLD el Banq 5
(A) ©GEnsE o . (B) GplLaa
(C) Qesfyamyr gell siemwser . (D) Pera siema> i

Consider the following statements,

- Assertion (A) : Receptors for steroid hormones are located inside the cells.

Reason (R) : Because steroid hormones are lipid soluble molecules that diffuse easily

* through the phospholipid interior of cell membrane.
‘(}(ﬂ Both (A) and (R) are true.and R is the correct explanation of (A)
(B) Both (A) and (R) are true (R) is not a correct explanation of (A)
(C) (A)is true but (R) is false
(D)  (A)is false but (R) is true

Spsargnib sursSwukisgamers seuargfle Aamdrs.

sapm (A) T evigymi(® apniGuorer Gededlgner o s Qarangse.

erafiflés umavCurall i fager Cae saualamens SLE58 i g
A) A womb (R) &l wogd R)greng) (A)ée sflunen ellatsswrgnd
(B) (A) wombd (R) sflurengy oyemred (R)grang (A)sﬁi;_b@ Fiimen eflardsineea
(C (A ofl yammed (R) Fwicom .
D) (A sflwae e (R) &f

5
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10. Hormone Gastrin acts as
@&f] Stimulates HCl production
o (B) _Cau:ses-contraction of gall bladd'er
(C)‘ Water and Salt secretilon

(D) Stimulate urine elimination

Caevg e @_njrrr'r&?mrrsnﬂs&r Ceuenauinang

(A) HClepusfHaw greaHeug

B) dYgslinuenw sEesE Calicug)

(C©) Brwpmi 2 Lyseer 51688 CElaig)

(D) é]g}]f;r“r QeuaflGuinnsdenar geir(Heus)

11.  The transfer RNA (tRNA) carries the activated amino aeid at its
(A) 5 OHterminal By 3'CCA terminal
(C) Ty Cloop - ; (D) Anticodon end

@uwrpmbd 2. erer. o (LRNA) myopd g dGam sflesag @ auugdllld a@s56

Cleerdims? - .
(4) 5 OHyelib " (B) FCCA apueIitp
(Cy Ty Ceawmay ) (D) Q%siﬂi‘}(ﬁam_rrs&r@aﬂ
. l . )
12, . Neisser in 1879 discovered a sexually transmitted disease known as
Gy Syphillis : (B) AIDS

«a‘{’ donorrhoea ' : (D) Hydrocele

18796 Brevevnt arhs Lnwellanar Cprullenend el g s mir?
A Brpdogew T (B)  enina
© Qe Gmi ' . D)  yeir clbsasH0 B Conge

GS17 , ’ 6 ] ' @
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13.

14.

15.

16.

How many printing characters are there in ASCII?
4) 90 ' (B) 65

) o4 : (D) 62

ASCII erengyib GerhGarameuuiley asgsmen ellSLONET HFFTGW eT(PHHEEET 2 GraTet?

(&) 90 (B) 65

© 91 - (D) 62

GIS stands for _

7.4, Geographic Information System _ (B) Global Information System
(C) ~Graphical Information System (D) Google Information System
GIS eranugy

(A) | yells gaaue peapenin . (B) @Garmud gseud qpenmeno
©) Srrlase ssEad apeapenLD (D)  sn@er gaeud apamenio

is the binary equivalent of (12),,. '

(A) 00010010 (B{? 1100
© 1101 (D) 1010
(12),, erenugen @geiTLtg.omem iy BB, -
(A) 00010010 ' (B) 1100

(¢ 1101 - (D) 1010

The warm current that travels upto Cape Hatteras is known as
(A) Benguella (B) Labrador
(G  Guif stream : (D) Falkland " .

G bt L6 ueny it Qaeb@tb Qeutis BCom L sfen QUi :
(A) QuiagGuerfCrmin (B)  emigmi fCymLb
(C) souBCpmiLb - D) Jursempgy FCrm b
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17. "Match List I and List IT and select the correct answer using the codes given below :

List T | © ListIl
(a) Pangaea ' 1. Continental drift
(b} Panthalassa ' 2. Large land IIl-’.jI‘SS
: (_c) Tethys . - 3. Huge ocean
(d) Wegenejr ’ 4. . Small seas

@ @ @

11 : ) (
(A) 3 2 1 4
(B): 4 2 i 3
€ .2 3 1 4 )

! 2 3 4 1

uigwd I-erer ulgud [I-gmer dur@sd ulgudsersies £Cyp o drer Ggﬁ@ﬁ&]aﬂ@ﬁ)@'
gfhwunrer sflen ulenen GgMey Qass : ) '

© ulgue X uCgwisb I1
(@ urégdur . 1. e paiey
(b) ushg,r;urrarrr 2. =dls erey Hleotiupliy ‘
© -QziEA 3. Gulweeidn "
(d-) Qeugllant - . 4, Afhw sLdser

(a) (b) © @

@A 3 2 1 4
B) 4 2 -1 3
© 2 3 1 4
D) 2 3 4 1
Gsi7 - - 8 . : 0
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18.

19.

Match List I and List II and select the correct answer from the codes given below the list : |

List1 - © Listll
(Major_Rivers) (Percentage of Basin Area) °
{a) Ganga 1. 938 .
(b) Godavari 2. 11.0 T
(¢) Yamuna 3. 9.5
(@ Indus 4. 262

@ b @ @

Ay 3 4 1 g
® 1 3 .2 1
W@y 4 3 9 1
D 2 1 4 3

LY

cuflens -2 e auflans T1- genar Qummad EPQarRasiu’ Gerer #flwirer efan_ulsmer Ggfley Qawis.

euflens [ aiflens IT |
(Quiu epellsdr) - (wdm TrGse UTUY s5eS55HD)
(a) shos 1. 9.8 :
b  Ganpraufl 2. 110
(©)  wpenes 3. 9.5
(d) Qs _&@aﬁ] 4, 26.2
oo (a) (b) (o) (d)
A 3 4 1 2
(B} 1. 3 2 4
cy 4 3 2 1
o 2. 1 4 3
World’s leading prodticer of tea 1s
(A) Kenya ) (B) Brazil

. {C)  China - (W) India

2 aflGal 2ifl5 yeTey Gguﬁlmmmu_i' 2 husd ety prE
(&)  Qaenwn ' : B) GCrée

(C) - Seor . ' o (D) @sSur
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21.

G817

Which of the following year is considered as one of the worst drought year in the last one
hundred years of India? ' :

(&) 2000 - (B) 2001
©fl 2002 (D) 2006

Giduneile s_Bs HIn e Hasfid e Cursinrer aupl & e s smHaliLHeugl a1gi? .
(A) 2000 (B) 2001
(Cy 2002 ) (D) 2006

Match the following mineral resources with their reserve places :

List 1 ' List IT
(a) .Bauxite 1. Singhbhum
(by Copper 2. Panna
{(¢0 Diamond 3. Tiruchirappalli -
4 Bilaspur ‘

{d) Gypsum

@ o © @

Ay 4 2 3 1
®B) 3 4 2 1
© 3 1 4 2
@y 4 1 9 3

Qeseu(mid H1g euaThiseneT Seuhilen GHin GLiiaGerr® Qurmsgs :

ulgwe 1 0 ucguwell
(a) undensl 1. Hr b
(b) Gleoy 2. Ligsremnt
(c) esurd 3.  Smefyriudret
d)y guasd 4, Sleomgoy T

(a) {b) {c) {d)
A4 4 2 3 1
B 3 4 2 1
€ 3 1 4 2
D 4 1 2 3

10 ' O
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22. Which inscription referred to “Piyadassi” as the second name for Asoka?
(A) Girnar ) 2 " (B) Bhabru
LV!Q Maski {D). Rummindei

“@wingd” (Lﬁimmg,r‘rélsuﬂj GTERLD @ua'r.n_mb Quweny Geramse @OHlLINRD satGeul{ erg?
Ay  &liveni .. - (B  vmiem
©  wevdl, _ D) @B&Csr

23. Consider the following about Vedic literatures :
I. . The Brahmanas are the treatises reljnlting to prayer and sacrificial ceremony.

II. The Upanishads are philosophical texts dealing with topic like the soul, the absolute,
the origin of the world and the mysteries of nature.

III. The Aranyakas are called country books.

IV. The author of Ramayana was Vedavyas and that of Mahabharata was Valmiki.

Choose the correct code :
(A) ‘L ILIII and IV \ (B) II, III and IV only
@) TandII only (D) III and IV only

Gmg, e @esfukise u,rggﬂ @mm@m gm_g)mg) seua :
L m@urr@ wHmd Casarallser @@g,g, aﬁlm&a;rma;m Wrmoehiseia sapliu’ Herarer.

IL Qﬂcx!,mmrr, Gmbwd, 2 wdler CgTHmb, @mpmﬁuﬁ"lew |_|lﬂu_|rrg, yélrser Gurrsng) Bégieu

chlerdamisemend same s e LSl Shser
1L pm G Qesdlukiad arens S UILIEEUS) Sy eI SRISET.

v. @qnmnmmgmg,‘sr(gﬁusufr Gmgaﬁlu_!rrar'r, ETLTTSEES BubHiuat aurd 58 syar.

gflwireneudann (ngr;'bgg@ :

@A) LI, wppoIV - ' B) 1L I pmo IV i Go -
(© I wopgbIT o (b @) I wpmbd IV o @Gio
r - N
o 11 : GS17
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of

(a)
(b)

() .

(d)

(e

" Match :

" Shutudri

Vipas

Parushni

Asikni

_Vitasta

1. Beas

2. - Ravi

3. ?utlej ’
4. Jhelum
5. Chenab

Select from the codes given below :

(B)
(&)

(D)

@ O

3
1
2

4

_ Bunwggis

GS17

(a)
()
©

@

(e)

GY
(B)
©)
D)

&igj(&:’;fﬂ‘
eflurain
LT aig6at]

& saf

- eflgeivgm

(a) (b)
3
1 - 2
2 3
£ 1

I

]

.

© @ @

2 5 4

3 4 5

1 4 5

2 3 . 5
) AL (18], =)
2. el
3. ey
4. Beald
5. Gle;arrrru;l

_eiusGsaldmbg sflwrer sllan_smw CanblsRsaan :

(©) d _ (@
9 5 4
3 4 5
1 4 5
2 3 5

12
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25.

27.

The important site of Harappa was excavated by

" (B)

(A) R.D. Banerjee

(‘(J? Dayaram Sahini

(D)

Sir John Marshall

R.S. Sharmsa

apsAwusgeud Gubm G orer aprFluTanes SPeUTTTLER CFuigeuT

(A) g vreried

(C)  swmprb agrableh

The 23 Tirthankar of Jainism was
{A) Rishabha

Mahavira

()
SLOGTT mug,ﬁsur 23-eugy Sigsmiant
(A  Megum

(C) wewneigh

(B

. (D)

By

@)

(B)

D

Tamil Isai Sangam was established at Madras by

(A SirREK. Sl’ianmugam Chetti.ar

' (C)  Sir M.A. Muthaiah Chettiar

@’

D)

Qsdnenamiiles O Qs sRsSmS 2 (HeuTESHwLT

(A) . &ir. t.Gs. agampand Qe guind
{©)

&, anib 67, (ipSeFuT Qe quir

(B)
D).

13. -

&7 QTN LOMTEGED

<7 ETE. FTLOT

Parsvanath
Aji.tanatha .
&
urrr'r&m(rﬁrr‘e_r;r'r
SR BHTST

Sir Annamalai Chettiar

1. P. Ramanathan Chettiar'

5. oiRTamToEna Qe ig wim
L3 ’ - l. \ .
erel. 8l gprobrge Gl guimt

r

GS17
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28.

29.

Which one of the following pair is correctly matched?

(A)
©
(D)

Dynasty

Khilji dynasty
Delhi sultanate
Mughal empire
Tughluq dynasty

Name

Ibrahim Lodi
Qutb-udin Aibak
Akbar

Firozshah Tughlug

Qemeugpauaneunmiat sflwns dur@msglinn.L Gegmy. e7&1?

(A)
(B)

©

(D)

Match List I with List IT and select the correct answer using the codes given below the lists.
List IT ‘

(a)
(b)
()
(d)

A
\By
(C)
(D)

auflens T 2 1 an exflens I enw Quamgd Guﬂm&as@aa@ S Qasrr@muuu@mm ng@utﬂd}@r@,@

GUIDFLD

&gl eubsLh -
ATV R-TV Y fo 7 (TR T
Quraamul CugTs

FIEETE QIDFID

List I

Kudi Arasu

Revolt
Pagutharivu
Modern Rationalist

(a) {b) (©)
3 1 2
4 3 2
2 1 4
1 3 2

aflimes Gﬂ]@ﬂl_uglﬁiﬁﬁﬂg} Qafla) Cedis.

(2)
)
(c)
(d)

(A)
(B)
©
)

euitens I

B NS
fGeureu_
BICEEIEY,

el Greamadlevi

() (b)
3

(VLI L
ol Do e B

4
2
1

e}

A

Guiwr
@ugahlib Geomg
GHLT BUS
DL

HGgmrasr gl&ars

1971
1934
1928
1925

auflens 1
1571 B
1934

1928

1925

14
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30.

31.

Arrange the followmg Mauryan revenue officials in the ascending orde: with the help of the

codes given below :

1.
2
3.
4

(A)
(B)
©)

By

Pradgsika
Sdhanika
Samharta
Rajuka

4, 1, 3-, 2
1,3, 42

3,1,2 4
2,4, 1,3

Querflwisafen sumerlsgicn sifsriismen Gm@ﬂ@;’bég Spra @Muipeeler eped Caia) Dl

1.
2,
3.
4.
A)

B)
©)

®)

Whlch British commander captured the Poligar of Panchalankurmhl

QrCg e
sugmertlsm

FLDGHTLIT

) g Qe

4,1,38,2
1,3, 4,2
31,2 4
2,4,1,3

Kattabomman and hanged him?

(A)
©

L.t. Maclean
Col. Agnew

\LH? Major Ba_nermann'

(D) | Col. Macaulay

Virapandya

ahs 2pmidlGaut @ymem s g,:mué] ung&nmmgrﬁ&ﬂ ureETLSSTYT efyLImay W s @umbioener

aenalubid grédledlLmi?
A) Oetmgemen’ Qusedlew ) (B) Gugf urerGier
C) siared mbailyy, (D) sfrar QuésrGa
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32, Choose the correct answer

The lndlan National Army crossed the Indo Burma Frontier and planted the National
Tricolour Flag on.

QO/] 192 March 1944 ) (B) 20 April 1944
(Cy  TthJune 1945 ' (D) 10" July 1945
siilwimen Gﬁ'reml_mu.(ﬁgfr‘rjr;@g,@ﬁ

b Cedw Errancud @ndHu-unor aamaliaard sreirg. plog apeuital Hamguilamer ghiffiu

BTET
(A) 19 wmis 1944 ‘ (B) 20 glind 1944
(€ 7mOar1945 ' ' D) 10 ggOane> 1945

33.  Which of the following is correct?

The unhappiness of the Indian Sepoys at Barrackpore, first surfaced in 1824 because.
I. The 47th regiment at Barrackpore was ordered to go to Burma

I. Caste distinections and segregations within the regiment

[1I. Recruitment of Brahmins were discouraged

IV. Introduction of the Enfield Rifle

7\ . ® I (C) Hand I M) IlandIV

Sp@OId L eeusefle) sfluneng) eg?

G ﬁuunu.lemﬂeur &p@gnmﬂmmm 18241 &L‘W(B uqe;guﬂeu apgen ngéﬂm g@mrréﬂﬁ;n@
SMTHTLD.

L | urdgflen 47-cug Gflay rregieutd ur'rmrr.mﬁlg';)@ Qrva 2 Fareil Ll g
I premeus Afleys@aGer smdl LngEUI® OO g;aﬂammu@;_:r,gsi)

III.  Ggmsasrisear Gaiey Qalcudléd aarisIfenenn

IV.  aemSol grinmsd Sipdu@ssd

@ 1 - B) I € HMuwopmn I D) I wbgbd IV

GS17 - | i - o
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34. Who among the following described the Indian princes as helpers and colleagues in the task
of Imperial rule? .
(A). Lord Mayo (B) Lord Rlpon
Lord Hardlnge II 3 (D) Lord Wavel

S1p Qar@ssiuc Laiseafid, @iHu wearantser qrasrrﬁug;@u_l %L_ﬁ&;@ n_g,mua.ma;m DOHMILD G]g,rrgj]euas
GamipigeT erehm saBlieuir wimi?

(A GuCwr Sy . (B) tﬂuuarr Ay
(C)  @pewrLmb amming i 1S7y (D) Geusuen 1Sy
35." From the following graph which of the following years was the ratioc of Income to

expenditure the minimum.

70
60 4
50 1
401
30 1
204
10

_ Percent profit

1995 1896 1997 1998 1999 ° 2000

@& 1996 ' B 1995
- (C) 1998 N (D) 2000

&psar auenyuL e BhEl, G@DESULS aumenii-Csmsiler slfgsms 2 i w LD 6TE?

©70 -
60 4
50 1
40 1
301
20+
10+

Geomu E;S(;ﬁg';;Lb

1995 1996 1997 1998 1999 2000

(&) 1996 '_ . (®) 1995
(© 1998 (D) 2000

® _ 17 . es1T
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36.

@ 20 ' ’ (D) 10

The mean of 5 observation is 25, if one of the observation is excluded the mean becomes 20.
The excluded number 18

] 45 : ‘ (B) 40

5 erawsallen sl Qegrail 25, smpdiedimbs @ aadmmear Sadama aunilar miHosyref 20
erefled, HdamLi_t_ eTewr

(A 45 . (B) 40

{© 20 : _ - M 10

The mean of first five prime numbers is .
&) 50 (B) 4.5
@) 586 _ . D) 6.5

@pg,e:u 5 s er@masailen anl_(HEaTTaf _
Ay 5.0 . (B) 4.5

{0 586 ) D) 65

38.

39.

If ‘I’ is the standard deviation of the elements o, )3 7. Then the standard deviation of the
elements @ +3, B+ 3, ¥y + 3 is .

A I+3 B -3

©)N ! : ] ) Dy 31

a, B,y -an g efledsn 'l -erafldd @ + 3, B + 3, y + 3-an HLeflowvsamb
A 1+3 : ) B [-3
© B =7 (D) 31

[

If the arithmetic mean of 7, 5l, 13, x and a be 10, then the value of x is _ '
@A) 10 @) 16 ' -
© " 12 . - D 15 ' ' 1‘

' 7,5,13, x womd a dwuapdan sgrefl 10 erafld x @ By snars.

"GS17

(A) 10 _ (B) 16 .
© 12 ' D) 15

18 _ B o
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43,

42,

43.

P 1 27P-34Q .

If.afgthen 36P—3Q

@ | ®) l;—“
._ . : "

%“% s 2376};_-3346? ] |

w U | ® =2

© = ) %

In 2013, the population of a town is 1,25,000. If it is 1ncreased by 7% in the next year Find
the populatlon in 2014

. (A) 8750 i @J7 1,33,750

(C) 1,16,250 (D) 1,25,000

-

- 2013-@l@, @m paTider wEsMQgres 1,25, 000 <Hss éa,mrlq,a) <ig 7% QuB@LorenTe,

2014 @é m&&m@]g,nm&mm& ST,
(A) 8750 B) 1,33,750 E
(C) 1,16,250 ’ (D) 1,25,000 -

Salaries of Ravish and Sumita are in the ratio 2:3. If the salary of each is 1ncreased by
Rs. 4,000, the new ratio becomes 40:57. What is Sumita's present salary?

(A) Rs. 32,000 (B) Rs. 34,000 -
¥7 Rs. 38,000 (D) Rs. 40,000

refiely wpmb sOGTeler caflu Afsb 2: 3. peublaurelt eaglusSlgib m. 4,000 sfsfgsrd, Ly
sarflw ofldlzid 40:57 erafled, suligmeflar sHGUTepSW parfluid wing?

A) @ 32000 . (B @ 34,000
(©): @ 38,000 @) @ 40,000
~ Which is largest in 28%, 2.8%, % and 0.25?

&f1 28% . - (®) 2.8%
© - : ©® 0.25

98%. 2.8%, -3-, 0.25 - Qaupiiles ergy Gutwsgy? |
A) 28% . : B) 2.8%

(© % : D 02
19 ' ' GS17
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44,

A horse and two cows together cost Rs. 680. If a horse cost Rs. 80 more than a cow then the
ratio of cost of horse and cow is -

&f] 15 B) 57
©. 89 R D) 98

@M Gy wHnb @UG&B‘F@ wrpseien Gwonsg eflene ay. 680. @ Gdeoguiar sllanewneng o
w6 slleaamu sil . 80 w@sb aafld gdar womb wryar sila@ader slidpwreang

A TS5 . By 57

- (C) 89 . ‘ (D) 98

45,

31:- of % of ~§— of a number is 54. Then the number is

=

(A) 280 ' @5 300

L@ 320 : ‘ D) 350

46.

T 47,

GS17

@05 o axef Gar % Ldidléd % udley i LhisTerg 54 oL&0. erafle) 2ibs erewrammang

(A) 280 - - (B) 300

(C) 320 _ (D) 350
Q
A:B=x:2 B:c=2: L :p=2:2 then 4:B:C:D is
3°9’ 6 12 714

(A)  40:28:35:30 @5 30:40:28:35
(C)  28:30:40:35 ° ‘ ' (D) 35:30:28:40

1 4 57 .. 2.5
A:B==-:—, B:C==1—, C:D==—:— aailao A:B:C: D

39 6 12 7 T e el
(A)  40:28:35:30 e (B) 30:40:28:35
(C)  28:30:40:35 (D) 35:30:28:40 .

If (3x+2y): (3x—2y)=5:2. Then x:y is | ‘
(A) -5:2 . . - @) 149
(C) 914 - - (D) 25

'(3x+2y):(3x—2y)=5:2 erefléd x:y @pemgy

@ 52 ‘ ®) 14:9
& 94 ' (D) - 2:5

20 . 0.
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48,

49.

50.

"581.

A rectangular carpet has an area of 60 sq.m. Its diagonal and longer side together equal
5 times the shorter side. The length of the carpet is

(A) 5m @7 12m
(C) 13m i () 1456 m

@@ Qsdiaus sy dARLGer Liuetey 60 & a{g,m fBemoren LGS b, @mmsﬁlu_(y)m @mm&g;}
ol u@,ﬁuﬂﬂmel_m:@ Sareflh@ g erafle, sanr aflfiLiten Eemb u.mg? .
(A) 5.8 . ® 128 .

{C) 1348 ) (D) 14548

The number of small cubes with edge 10 cm that can be accommodated in a cubical box of
edge 1 mis '

(4 10 - (B) 100

©n 1000 : o ) (D) 10000 -

1 8 uss oarey oetar sasgy Quiwwld assmenr 10 Qs LEs aTaareT sm&g,jlfréla;a;m
MEUEHQMD? '

(A 10 . (B) 100

(C) 1000 ' (D) 10000

The diameter of a sphere is 6 cm. [t id melted and drawn into a wire of diameter 2 mm. The
length of the wire is

A 12m ' : (B) 18m

(©f7 36m - ; . (D) 66m

@ CamensHer AL b 6 Qs.i5. spmen o médl, 2 1818 oSl Lib Garem snGurs mrri_brfﬁmné),
2558 soAEen fard wing?

(A 128 o (B) 1815. _

© 368 - _ D) 6618 .

A uniform circular path of width 4 m is laid out around a circular park of radius 48 m. Find
the area of the circular path :

Wl 1256 m? (B) 1255 m?

(C) 400 m? - D) 1254 m?2.

48 8 SIwnEs Carer eulL aju;,am Lmismellenm Q@aﬂﬁqmg‘,g}i@ 4 8 siswsdd swifyrer

L OLINGSS SIenwéasILREDE. SCLTasdan LFloL STears.
(A) 1256 -~ (B) 12558° .
(©) 40048 - _ D) 12548

21 . ' : GS17
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52. If B=2, BALL = 27 then BOOK =7
'(A) 40 By 41
© 42 o _ oy 43

B =2 wpmib BALL = 27 arafléo BOOK = ? _
A 40 . C® 41

(C) 42 . ‘ (D) 43-. -
53. ¥Find the missing number : '
3 9
Tl1laer| s

A 10 ‘ - . B 9
Wwjl 8 ‘ . Dy 7
SA{BLIL L. GTeiTaneRTd: Smems: :

3 ?

o | 714 6
9 | 4
@A 10 ' ® 9
© s . - @ 7
Gs17 _, 22
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4.

55.

Three v1ews of a cube are glven below. What is the letter oppasite to A?

@&H- , - ® P

€y B D) M

om sar sEsSdn apany edsiomen Camppiiser &Cp CaTHEsLLL Gararg aafld, A-ler argis
LE&SHD 2 dTer erpSa Grgj? ' .

(A H o . -(B).P
< B - O M
If

(1) Rama scored more than Rani

(2) Rani scored less than Rathna

(3) Rathna scored more than Rama and _

(4) ) Ramya scored more than Rama but less tha;l Rathna then who scored the highest?
(A) Rama ‘ ’ ~ (B) . Rani

(Dﬂ_ Rathna ' (D) Ramya

(D gom ereueuit Tremfiaow el sdlé wHLGuerr QuppmT.

(2) gresfl eramueulr FHaTeney el enpeuran HUiQuer QubpmT.

(3)  p&eur erénucur poTaneu el HiFls WG Guppr.

(4) °  mbwr erémLeui FoMEna 651L Sifswnsab geamame ol @eapeaursad wHlbuar Qupmri

eraflad, @@ <1fla wH QU eurmiwieuT wmi?
@A) mor : : ®) prefl
(C) opgenr C (D) mbwm

.23 GS17
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56. If8—5x4=44and 15-3x3=48then 16-4x5="7"

@ 69

A) 0
(C 20

(D)

25

8-5x4=44 0opb15-3x3 =48 aaflér 16 -4 x5="7

(A) 0 B 69
© 20 D) 25
57. IFind-the next diagram :
: oo ot Ijj ?
)
&, ®) o
(®) ° (D) o
o
2055 uLGdlencn Seir(HLlg :
: oo &3 [:Ij : ?
[a] o)
(A o B) o
© o D) o
[n]
GS17 - 24
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59.

"60.

61.

-Which is the strongest acid? ' .
{&j) HCOOH : (B) CH,COOH
(C) C4H,COOH : (D) C,H,CO0H

Epsseam_supdie effluliEhs snfab eg? . .
(A) HCOOH (B) CH,COOH
(© C,H,COOH - @O) C,H,CO0H

For a cell reaction

A(S) + 2B* == A% + 2B

the equilibrium constant is found to be 10'%. Then the E:,; value is
&) 0354V B) 0708V

(C)y 00295V (D) 0177V

Bipssen_ Blenswm aflenamuen

AS) + 2B = A% +2B

Foblenay wmihled 10 arefia, e B wdi eramen?

(A) 0354V (B) 0.708V

) 00205V ‘ _ D 0177V

The specific conductance of a 0.01 M solution of KCl is 1.4 x 10-? ohm-! cm-! at 298 K. Its

equivalent conductance 1s (chm-! em2equt=1).
(A) -0.14 ) (B) 1.40-
©), 140 Wy 140

0.01 M KCl senpaeilsn Sluno aal_gsgjgﬁmaﬂ 298 K—uﬁ!a} 1.4 x 10-3 @LD 'Qal” erafléy, QEseanreedien -

gwren sLgHEdner oy (ohm-! em?equt-?)
(A  0.14 B) 1.40
() 140 D) 140

The compound is used as rocket propellant
t’.ér)q Hydrazine (B) Nitric acid
(C) Ammonia (D) Nitrogen

- réQel erfiQurmar vwerur g H@ e.uCuindgslu@n Qumgser

(A) . weplgeder . - - . (B)  anplflé 2l
(C)  =CGoraiwr - ' ' (D) epLlrgmen

Click here to Visit >> www.govtjobsnet.com
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62. The main thrllét of the Industrial Policy Statement 1977 was to
(A) Promote large scale industries
- fBY- Develop basic industries
i {@? Encourage small scale an.cl cottage industries

(D) Encourage agricultux_'e_and allied activities

1977-cub e GrSL OpmSs Cardasd saBmeds Jeap ap
- (A)  Gurerey Qsmfle Hincuamismer GOIbLIBSSI6.S

(B sigtua Gsnflasismer (anGambn eug)

(C) Adw whmb @iy anss Qg_;rrgSléo&semm émé@sﬁ]uu@

(D)  Geuarmait HMID TGS BL6lig Henasenar sargs@edLIg)

63. Governm;ant of India introduced tﬁe Sarva Shiksha Abhivan (SSA) in the year
- | (A) 2001-02 i ‘ (B) 2002-03
(0)  2003-04 (D) 2004-05

SienanemEGD sl (#ia Haagm SQwrar-SSA) ea S sms Qpdwrede sifiapsb Gsis

2pe(h
(A  2001-02 _ (B) 2002-03
(C)  2008-04 (D) 2004-05

64.  Fill in the blanks

- India has been recognised as the . country in the world to officially adopt-

Family Planning Programme in .
(A)  First, 1950 ' (B) Second, 1952
(@)  First, 1952 _ (D) Second, 1951 ,
arefludl_fisener Blirliys.
ews  BrIRselld @QsHur —————— wEsET  pagHligas ——— B0
Eepi_(papLu@sdug:. ' - . '
(A) '@g,surrsug,rra;, 1950 - (B)  @rem_meaugne, 1952
(C) wsareugns, 1952 - (D} @rar_reugna, 1951

GS17 : 26 o . - . O
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65.

G6.

67.

Constder the following statements. . o
Assertion (A) : Soil erosion 18 essentially a man-made phenomenon

Reason (R) : Soil erosion is caused due to deforestation, overgrazing, shifting
cultivation and improperly constructed terrace outlets.

(«.dﬂ) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B) Both (A) and (R} are individually true but (R) is not a corr ect explanation of (A)
(C)  (A)is true but (R) is false

(D}  (A) is false but (R) 1s true

Spasngbd eunddlusisman suasHe Canedrs.

sapm (A : wesst il mesig) waflgermen 2 @BeurssliL B Sieufluoren ALK S5685
- Bapay ‘ ‘ :
smgarrb (R) - . ¢ werr fluureng sTLPEs0, odls Seellerear sropwl CuliSsd,

"ELuCuwie;  Geuemneineny  wHm  (peanwts  SULUILLAG  &lgl
SiemwiLseties e arer BT CleuefGuippid.

Ay Q) wpgw R) @qw@(ﬁm aifl, Guogy b (R) eremuig (A) eﬂm@ Fflwamasm aﬁ?m&a;w
B A wpmw R) @r,rmr@m &ifl, Gm@m (R) eramuigy (A) sﬂm@ &rﬂu_lrnaﬂ chlen&sLoebe0
(C) (A) sl yenmed (R) seupys :

) (A) seum apemer (R) sfl -

The Insurance Regulatory and Development Authority (IRDA) Act was passed in the year

(A) 1986 ‘ . (B) 1991 °

O 1999 (D) ‘)00."

arul® e pluR&sso wHHILD euariad %wmm (IRDA) s Lib @mg}gg)uut_l_ %w@\
(A) 1986 B) 1991,

©) 1999 , M) 2005

RBI launched the Market Stabilisation Scheme (MSS) in 2004

(A)  for the sale and purchasé of Indian Currency . =
BYl asan additional channel to: mop up liquidity

(C) to fix the rate of interest at the lower level

(D) tocontrol the general price level

2004-cb shengemu HlavaiGsgsbd S sHenen Qbhu Meic ek greumdluig
Ay _@g}élm'mnmmgmg, euriiGa|h, ellhuenar GediagHEn
B) Brewwg sanewiliensn sMClsLILISNSTE QU SIHSLILIGIITEN 26TL_HOTES
©) ey eigsms @e;nmﬁg, Bleveude Srworefliughsns
(D) Qung s Hlaawlema s HUURSSMUSDSTS _
27 . GS17
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68.

69.

GS17

The Expert Group to review the methodology for the estimation of poverty in India in the
vear 2009 was headed by

(A) V.M. Dandekar (B) L.R. Jain

(C)  Martin Ravillion ) 8.D. Tendulkar

2009-1b syeing e bSwimedldr sugenan wHSEH Gaiud dpdaperpan opiey QFingd G
@eurgl ';E)GDEEI}Eﬁ'JLDUS]éU DB SH) , )
(A)  eflenb. LranGLgi (B)  erdb. oy Amyullein

(C)  wrmgen peumedwer (D)  erevg. QLamPerar

Expenditure tax in India was introduced by
&) T.T. Krishnamachari (B) C. Rajagopalachari
(C) Yashwant Sinha | (D) R. Venkatraman

@@Qun&@ Qaaay eufl Geugmed sidlapsd Qeiuiu’ L g
(A) .. Speiyewrorderi - B) & grrmGarurerggrd]
(C) wesauhs Henapm (D) =y, Qeumist_rroe

Consider the following statement :

Assertion (A) According to the New Economic Policy Globalisation is considered as
an instrument of growth.

Reason (R) o Globalisation increases the cost of trf;mSport and communication.

Which 18 the correct answer?

)] {A) is correct but (R) is wrong

(B) (A)iswrong but (R) is correct

(C)y  Both (A) and (R) are wrong ,

(D) (A) and (R) are correct and (R) is not the correct explanation of (A)

Ep&gehT cunddlidisener seust :

gy (A) U Gurmenmgnrs daTeransliLiy. D aDIIDTER Q_IGIT'I:ré:‘ﬂéiéﬁﬂ'GﬁT (T S TEE
SEBLLHEDE.
STFERTD (lR): o eswwLTEd CUIbGards  LOMID Agrener  Glgm iybarar  Hewame
' C aifsflsdng. '
Beupmier siluwimes eden_ erg)?

(A) (A swurang genma (R) geuprangmgh

B) (&) saupreng spema (R) sflunesn@io

©) (A wopmib (R) Grerfid saupraranal

(D) (A womn (R) @rar@in sfiunaransy pmbd (B)- (A)ssran sflwren eflenssn sida

28 O
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71.

The special Economic Zones Act was enacted in Feb. 2006. Identify which is not the
objective of the SEZ?

(A)  Generation of additional economic activity
'(B()] Promotion of import
(C) Creation of employment opportunities

(D) Development of infrastructure facilities

Bgeufl 20060 e Aningl durmentgny w&m b Gblds 5L 1b @uHnio’ g Qeunbien
GO SECETE aT8I6.10E TS StERL WITETLD &iTew.

(A) aspoerer QUIHETISTY HLEUYSEHEHEET 2 (HeUNHGUg)
(B) @nsgwdlaow sasgeaiiuug
(C) Cawar sumiiieni 2 (HeUTEE@E6US]

(D) s Guwre ausdlaaner 2 (HeursGeug:

Consider the Statement and Reason, choose the correct answer from the codes given below.
Assertion (4) : The Ratnakar Bank is referred to as NH4 Bank in the banking circles.

Reason (R) : Majority of the business of the Bank comes from cities in and around NH4,
which connects 10 popular cities.

.(36) Both (A) and (R) are correct. (R) is the correct explanation of (A)
(B) ' (A)is true (R) is false

(C)  {(A)is true, (R) is not the correct explanation of (A)

(D) Both (A) and (R) are false

&Gy OanpesLulGerer smbgimeile, amgamnd, eNaréssens phaGaly, Ger@asliul(Hdrer

GHluSPsaNmbs sflunen slemL_mw Gaitay Qe

smss (A) - Cowidl eulLrgsfle ‘ghennat eumidlew’ ‘prewEmd @mppigserana
aurrd) eran ieplpadlenpanrt.

amyemtid (R): @eueumdluller GQugburerar aigsEsnd, SB6EpHEEFTamaLlld
2 aran, wasarbgrans BlEHe 10 parhsaid CuptardreariuBéing.

Ay (A wpmw (R Gueirkid &, (A) ebier sfwrer ellengsn (R) <@

B) @A) A R) gap

(C) . (A) &l grammd (A)-alme@ (R) gihuren eflansah 2o

D)  (A) womid (R) Glrew(GGLo seum

29 ‘ GS17
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Which of the following is not a method of soil conservation?
(A)  afforestation | (B) . increasing the size of particles
(C)  slowing down of the water movement &Uﬂ applying fertilizers regularly

\Gemaigmel e h e e urr@a;rr&iﬁ@d:: (LPER D B|VED 6TF) ?
(A)  sn(hseer euaTTEFE .

B) e gadasailan sereilmar oifaliu(Gésisd
(€Y @@ bl Caissas Gansed

(D}  Qasm_iéfluns o yhsaer @) (Hse

The enzyme discovered by CSIR to increase shelf life of fruits and vegetables is
{A)  kinase super oxidase ' By  ethyl gluconase
(C)  phenyl aldolase (D) super oxide dismutase

- sefl&6T DD ST euenssater LSS g,s&rémmsmu Big & &.eren. 0. Hmieuenggred sevmr_Hlwili

76.

GS17

" GErd
(A)  ensCanev @OuT HysalGLEL - (B) afé GertarGeaneu -
©)  Soar 2HGLrGasw D) @il ysamen( ey GL s
Who is the 40t Chief Justice of India? . .
@A)\ Justice Sathasivam (B) Justice Altamas Kabir

1]

{C)  Justice Markandey Katju (D} Justice Lodha

@QbHwiredlen proLgne g 2 FFHSDETD Seaenn hod wirT?

&)  gdwurst sgreud (B) pAwpst @ w6 ST
©)  Bfwyst wmisaCGLi &g ® (D)  EHwper Caomgm

Which of the following countries in late 2013 gave approval to commercial release of
Bt-Brinjal? '

(4] Bangladesh (B) Mexico
{C) France . . (D) Sweden .

Spsaa prihisaties s BTG 20]:3%&3 yamgen pucHia Bt--ssHfssmuler Swimumy
fwren deualul iy b pUUSD suphidlug?

(A)  amste Ggswb ) ' _ (B)  QuédCan

(C)  SUgremen _ D) eval_an

30 O
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77.

78.

79.

80.

How many times has Rafeal Nadal of Spain Won the French Open Tenms tournament to
break the record?

(A) Tumes (B) 8 times
(@] 9 times (D) 10 times

evEuilen e @ gmid pries Gyes grlinen W anaiian eflanemum’ G Cum’quld agsaar e
deuemny srgenanenwl (pdlwig S5TT?

(A)  7openp , (B) 8wenp

©  9wep @ 10 qpep

Who among the following have won the National ML.S. SBubbulakshmi Award 20147
Qﬂ Mathangi Sathyamurthy (B} KPAC Lalitha
(C) Sai Kumar : _ (D) Sujatha

Eipaesor_suis@ser wnm Cadlw enib.ere. sliyeud 2014 ell@mg Geucnpmi?
(A)  wrgnidl ssHwapigd (B) KPAC aeligm
(C) - emi @i (D) s

Name the scientist/organisation who successfully converted plastic shopping bag into diesel,
natural gas and other useful Petroleum products

(A) Ahmed Khan {B) Prof Angela Vincent
{Q{) Birendra Kumar Sharma (D) Bose Institute

euenfls ISamevgs @USMET L&D, QUDmE ey DD S vwegdrer Qu Crradlu By E@AunmeTTa
QeupBerors wrpdlu efieseprat/Simeuagden Gt Hms

(A)  oi5wg smeyr (B) Cupn. ggpeen ilenGeem’

(C) QCuidly @om g (D) Cunev Bmcuamn

Who received Dada Saheb Phalke Award 20137
(ﬁ@ Sampooran Singh Kalra ®B) Vijay Seshadri
(Cy  Pran Sikand (D) Ramesh Agarwal

sngr srabll urdGs eflmg 2013 Qubp BuF wmT?
(A)  syger Ak s (B) &gl Cayerevdif
(©  dyen s (D) ¢Cwes sreuted
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81. _ Match the following : L. Ce .

Paintings ] States L
(a) Kalam Kari 1. Andhra Pradesh
(b) Madhu bani 2. Bihar
() Phad 3.  Rajasthan
(@ Warli 4. Maharashtra )

(2) (b) (c) (d)

w1 .3 2 4
@ 1 2 3 4
€ 1 2 4 3
(D) 2 1 4 3
Qunrsss : . ‘ o - £
‘fgBrigar , wrilemser
(8) sombsrh 1. <A GrGgen
(b) -+ g Lired] 2. Serr - '
&) 3. FIEREN HTen
(d} eunmiedl 4. WOSTTTFERG.T
(a) (b) (e - (d)

A 1 3 2 4

®) 1 2 3 A
€ 1 2 4 '8 ‘
D 2 1 4 3

82.  Which is incorrect pair?
(A) . Saurav Ghosal — 8quash | - (\B{' Malavath Purna — Archery
(C) Heena Sidhu — Shooting ) (D) Chhanda Gayen — Mountainéer
saupren @amamanis CHFBOSMH :
(A) . FauTeu GETEL — S TeY B mrrsorrsu'rrg e — sﬁlsﬁ A TRTHY: 13
(C)y  ablenn Ag — gliurad sHSHD (D) #hsm CeOwen ~ wan@GLmgdH
GS17 - 32
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83.

84

85.

86.

87.

Arrange the peaks of Trans-Himalaya region in descending order :
K: — Hidden — Rakaposhi — Haramosh

(B) Hidden — Rakaposhi — K:— Haramosh

(C) K:— Rakaposhi — Hidden — Haramosh

(D) Kz— Hidden — Haramosh — Rakaposhi

tq..l'j'l'l'é"ﬁ'-[G!'D BAwreowgdla o drer Harriaener B prugeuflasufe euflansiuDsgis :
(A Ko~ aflén~ msCuid - anrirGiomes,

(B) aflien - graCurd — Ko — apriGuomely

(@  Ko—mmaCundl — gfl e — aoriGiomas

D) K:—afliei- gmﬁ(?mrfa‘sp —- gr&Gurél

Of the following who is not related to “Chipko Movement ?
(A} ~ Sunderlal Bahuguna By M.S. Swaminathan
(C) Chandi Prasad Bhatt (D) Gaura Devi

WemeumUsumeT “ALCaT Guissd” GgeLen derLmIeeamg e wimi?

(A) apgiamd LEGGeT (B) _erid.eren. seumblprgen
(C)  spd dgorgum_ : ’ (D) seyrn Caell
Sumitra Mahajarl is associated with the post of as on June 2014
{A) - Lok Sabha Deputy Speaker _ (B) Rajya Sabha Speaker
Lok Sabha Speaker of (D) Minister of External affairs

gan 2014 flasuriiig solGT warmer @bst Lgeilllemear aidlds eupsmT
(A) Ceoré sur glenews sUTBTWLST (B) grgw sur sumprLST
(C) = Geord gum sLrpMUST D) Qaefypeys gD SienwEsT

"Which one of the following 1s NOT a National Symbol?

(A) Mango Fruit . . (B) Dolphin
(C) Lotus . @ Coconut Tree

Sipisen_aippar argl Gaslu Héiard :@éumm?
(A)  wrbupb (B) LmérSlen

A(C)  srweny - E - (D) Gzénenen wid

The Silent Valley National Park is located at which district of Kt-erala?

(A)  Idukki . ' (B Palakkad
(C) Kottayam . (D) Wayanad

Caremralle eThg meul L Gl el Lateangsndg CaFul Liisr a{mm‘r_ﬁg}mm@?

A pesé (B) umessr@ -
(©C) CGemLwb . . _(D) B (R
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88.  Arrange in descending order of 2011 Child Sex Ratio in India.
-{\A’)q ‘ Chattisgarh — Kerala — Asom — West Bengal
(B) West Bengal — Asom — Kerala — Chattisgarh
" (C)  Chattisgarh — Asom — Kerala — West Bengal
o - West Bengal - Asom — Chattisgarh — Kerala -

‘@pdurelian 2011 sewsQe@udar Ly @Ep@ssale Ltdle dgses @phgefmedd
S L cuenemL (NS5, ' ' -

(A)  esdavst — Cagent — Gard — CohHE cubisirembd
B)  Cuig euisrend — SiGemb — Gapenm - sglevs
(C)  ssflevat — 2Cemib — Cayerm — GnE OuEIGTaTD

D)y GCuies UM BTETLD — HCEMD — s evaT — CaperT

89. Match the following and choose the correct answer :
Books ' - Aﬁthors
(a) Gold Finch - 1.- Daniel Pinto
(b) - '3 sections , 2. Vijay Seshadri
(¢) Anticipating India 3.  Shekar Gupta -
(d) Capital Wars 4, Denna Tartt

() (b) (e) (d)

(A 1 . 2 3 4
B 1 .3 4 2
@j) 4 2 3 1
™) 1 2 4 3
Essam _cupeon Gurmgdl. sflurer elleLulameang Caray Galis :
LGSERIGET \ : _ S AL T
(a) Caroc Nens 1. CLaflww QenGLn
(b) 3 Qesassnen 2. eflgi) GagsravAil
(O e AuCUC gk @Sur 3. Goar @lsT
(d) CsulLereuniein ' 4. Gurewmenm it
@ . @y @
@ 1 2 3 4
B 1 3 4 -2
©) 1 2 3 - 1
o 1 2 4 3

GS17 ) . 84 : . Q
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0.

91.

Consider the following statements :

1. There are 25 High Courts in India

2. Punjab, Hmyana and the Union Territory of C‘handlgalh have a common ngh Court
3. Natlonlal Capital Territory of Delhi has a High Court of its own

Which of the statements given above is/are correct?
&f] 2and3 . ‘ (B) land?2

(Cy 1,2and3 - - (D) 3only

SipsairL. sppisenet smaHd Qamarerayb.

1. @psluimrellcs 25 gmrr,ﬁé]mmmmesm o _&ramen.

2. gL, gmrﬂu_arremrr Log}gnm FERTIGEITT SpLdlweney GLMgleu e au_trrﬁ,é,lmmg)g,mg @a;rrswr@menw
3. Csflu gamepat ALdd sastsa @@ e wifdoammsas Heram@ararg) '
GuhsamrLeummhie erenen Teng? ‘

(AY 2wpmb3 ) B) 1wpmbn2

(€ 1, 2wpgb 3 | D) Fwlfd

-

Considering the following statements about the Attorney-General of India.
1. He is appointed by the President of India . »

2. . He must have the same qualifications as are required for a judge of the Supreme
Court .

3. He must be a member of either house of parliament

4, He can be removed by impeachment by parliament

Which of these statements are correct? ..

&) land2. - . (B).land3

(©) 2 3and4 - (D) 8and4

Bpfus sl gnon gyl upblu smhen smbhn Camerarad.
L' Gpdu @uyunss smesmd Huidéstiu@ont

.2 o Gepdweny BALSEE Camawnar sERew Quibg B (més Casamiin

3. ungrgnLangdien B e;e‘s)a.la;aﬂeb gGagid @sirr,r_{)lda s muanms Bmss GeausmmHib
4. GOREFT_HHET qpaLd ungn@mmmggnm ug,eﬁl Bésb Aeuiiw apigquiib

@eupiich sRwimen Sammi 61817
‘(4) 1 woHmb 2 . g - B) lwhpwo3
(©) 2, 3wpmb4 C (D) 3wpme4 ; =
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The Parliament consists of
€A - Lok Sabha and Rajya Sabha - ’

. 5.5;]{] The PreSLdent Lok Sabha and Rajya Sabha

{€) Lok Sabha, Council of Ministers and Rajya Sabha
(D) Lok Sabha, Rajya Sabha and Vice-President

LI T@RDER DD GTELIG)]

(A)  &pseru g Codsemu

B) gamdud, Spsamu womid G

©) Spsamu, 1bsSL ennFayewar HmD Godsamu

- D) %@&Gﬂu, GioevganLs Ln,r_i?ng gienewr genmdlLb

93.

Who is the real executive in a state?

(A) Governor

(B)  The Speaker

{0 ° The Chief Minister -
{J)}T The Chief Minister and the Counecil of Ministers

P mnﬁmgﬁm 2 GRTEOWITET %Lﬂﬁ@@ﬂ'}}]} ag%l&.rrfﬂ wisT?

A ayept

9.

(B) surgrwar
(C}  @pawawést

(D)  (psmLEsHD 6L IL SEHDFFTEaILILD

Comptroller and Auditor General is appointed by the
] President

(B)  Vice-President °

(C)  Rajya Sabha

(D) Lok Sabha

. EONAWIOE SETTEHES SanllEamawmearany Bl Sluug

GS17

(A).  GyUrss s

(B govemts Brwpss seveveurt

(C)  orguw sur
(D) Ganrdeun
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95.

96.

*Consider the following statements with reference to India.

1. The Chief Election Commissioner and other Election Commissioners enjoy equal
power but receive unequal salaries

2. The Chief Election Commissioner is entitled to the same salary as is provided to a
judge of the Supreme Court

3. The Chief Election Commissioner shall not be removed from his ofﬁce_éxcept in like
manner and on like grounds as a judge of the Supreme Court -

4. The term of the Election Commissioner is five years from the date he assumes his
office or till the day he attains the age of 62 years whichever is earlier

Which of these statements are correct? _ )
(A) . 1and2 @ 2and3

< 1 andf_l | - (D 2and4

£C1p v_crer smpyseRies @bAL Caitsm aymen LD 15,

1. . geaeow CEigad Qymammuit whmb En Caigd %mmurresm swwrar sfsmid 2 epLwiauiraer
QLETE) FLOWHY FhLrembd Qundprisdr -

2 g Gaitge oyenamu o sohdoemnsden ﬁﬁuﬁﬁﬁfﬂﬁiﬂ @mmmwm FLhLiarLd G]ug;eﬁ]g}m'r

3. edssffuangdar fHufaaments GLire> wepuenio (Sg,rrg,m %mmmmrj LIgeS f,es.sm ALY
Glwrgl - .

4. soams Gsigd pmanui § HamhHsEHéE ;_F;]tu L&é;&;ﬁru@a‘jmr:r'r- Cogib 2T 62 euwig
eLGUTpE BrbUSnCar @ rams d agl (parangns eumAnGar Sigen Ly Lged STOLTT

Reveusaflar erencu &tﬂmnm@m?

A loppo? { B) Zwppb3 .

© 1woppd4 _ D) 2wpmo 4

Central Vigilance Commission was :aet up on the recommendation of
(A) Gorwala Rep_c)rt

QBO/7 Santhanam Committee

{(C)  Kripalani Com'mittet-e .

(D) Indian Administrative Reforms Commission

© B sansnentloy /el fITLeRTiey SpananRTD eTHer ufpgiengulen Guie gmu®§g)uuLLg|?

(A) GCamieurer sidlésms

B) spgrand G
(C) Amuumeiiaf Gy .

@)  @idu Pirans FHmss Yoamud

: , .87 _ GS17
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97.

98.

GS17

Which one of the following statements about Comptroller and'AuditDr General of India is

not correct?

(A)  He has no direct access to the parliament and no minister can represent him

(B) His salary and emoluments are chargeable on the consolidated fund df India

() He cannot disallow any expenditure which in his opinion violates the constitution

(D} He has been debarred from holding any office of profit under the union or state govt.
after his retirement

Epdoaim_eihmeT ahs wmby @HEwnellar Gmaweann sawrd@E whph Senflsamawsment LbMg Fluide

GTEUTLI NG T [} 5.

(A) SuEsE ungn@m&nm&@usﬁr Grrg Qem_m) Seaiwirg wHmb aTHs HAWEFIHD 6T
ArdHuwrs QeuduL qpgurg

(B) weuggy eaflud wpme Gp usriuwudasdar Gpdwreflan derguydu BN mbs)
auprsiILERDE ' :

(C)  srduaemnly sAdsEnée LTprs et ahs QewellarusEreEb ains aupkis Guatg

D) B soumn sedEg wHND safdgmauret ugell guey Gupp Qerert, WSS B
wrhler Sipgraansand ueThuLen Sl sEh used adssred eum Siugefudadwmba

BéaliLGeurr

The institution of Lokayukta was created first in Maharashtra in the year
(A) 1970 ‘ (B) 1972
(C) 1973 )] 1971

‘(‘Swrra;uésﬁlr GG SienolI PSP DLITS masrrmrraiq,qgr.reﬂ@ FJHURSSULLCL & (H
(A 1970 B) 1972
(Cy 1973 (D). 1971
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100.

Whlch of the following was referred by Surendra Nath Banerjee as “The Magna Carta of our

rights and hbertles 7. s
(A) ' The Constitution of India ) -

(B) The Indian Councils Act of 1919

() Regulating Act of 1772 )

of

The Queen’s Pr(')clarnat‘ion of 1858

Bwg o fenosem wHmib a’.g_,gejlug,ﬁma;naﬁr IDGTHTEGID GTEITI &Gr;fmé]mrrg, ureniell, Sipdsaim_aupild

sr;semsarr @O mi?

@) @ifu srfueeniy
B) gisw seyendle sLib 1919
©  gurEspep sLLb 1772
D  opfwciier Gralemnb 1858

1.

2.

3.
4,

R%Y

©)

Consider the following statements with regard to Public interest hitigation.

In essence, a third party can bring before the court issues in the public interest

The Supreme Court may action the receipt of a letter ‘or post card from a citizen
requesting protection of his fundamental rights '

It 15 also known as social action htigation )

Justice V.R. Krishna Iyer and T.N. Bhagawathi were its proponents
land2 - | . (® 2and3

3and 4 - ) @f 1,2,3and4

EpsamL spmisaia ALngpe ap&s @g,rrll_irunm amplenen spsHle Qamers.

1.
2.

(A)
©

Guing) Beven smd) e apamihd FUT Grssamansamer SHwepsde Asnam( eugemd

QR Glgb&en S Slglieml 2 fenwsmer LTHEMEGL QUL Siggid aundersGer -
e suTa apaorsGat BHwapsdlib Calps tatarimd 2 fspfoamid sigar Cuifléd
GlEwueuLambd ' '

@\a @@ FPS ij.ﬁSGU)(&} QETLrLmeT eupsE crmgum DD LPEHGITLD

;’B‘eﬁu@ V.R. dmegenr ouw LDQ)Q;LD ﬁﬁu@ T.N. vaed Gt grer Bes Q&rrem@
QUBEEUTEET qg,@.rs‘r

1 wohmnd 2 - . B) 2 LDLEJQJLb 3

Bwpgb4 ) D) 1,2 3wpmb4
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101.

| Consider the following statements.

Asgsertion (A) : " Cuscuta is a parasitic ammal

Reason (R} * Cuscuta depends on the hoat plant for 1ts organic food, water and
mineral salts.

(A} Both (A) and (R) are individually true and ( R) iz the correct explanation of (A)
(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
(Cy  (A)is true but (R) is false

()] (A) is false but (R) is true

) &@é‘.&rr@mj: cuddliLmIsameT seuangdler Gandrs.

. GS17

sapm (A) : SeGLIT T @ el (petrent] eflevk Slamd.

&;TFJ'GMTLB (R) T - SOV@ELT Fag o awa), gamalT wHmb sefo o lysalldr Gameusenas
: S,EMTE sreursdleneand enihEme@ED )

A Aupmo R) Gresib &, (R) eramug (A) aflpg of wrer eferésn

(BY (A wiombd (R) @reasrHib #fl, Guaud (R) ereuigy (A) el efurmen Aenéside

€y (A sl gyame (R) Seumy . N

D)y (A saum g";;,smm (R) &l

Consider the following statements :

I Chlorofluro carbons have been widely used as super coolants in aerosols and
insecticides. : :
I1. Methoprene is harmful to plants and animals.

III.  Photobacterium phosphoreum is an example of bioluminescence,
IV.  Pedology is the study of soil in the natural atmosphere.

Find the correct statements .

(AY I, 1II, III are correct B)- I, III and IV are correct
(@7 - 1and Il are correct (D)} III and IV are correct

Spésin. aunsdurismans sare]

L LTTHEIEHET (aerosois) wpgh  EHs Qeradseie, Qumburaenowns  @GGemCrr
- saenGrrasniueanser el @gaflap iy sarra uusmu@g;g,uu @élszrrmw

I, SCsmIfen greaurtiser elan GsEnsE Cai aﬁlmm‘aﬂuugngw

L SGumt G uméig Muwid umei. Curfiub eretug) e udf @Gﬂna&luunm&@é&@‘a@ﬁg@ﬂﬁﬁ@m

IV,  dureg eranug Gupens @uoadld war upBliv pbeurgn
Epsaam_ @DuiHamen s LwsuREE sl wimer eflen_emu cr@@.:s,

A LI Log'jgjtb T i @w FAwrerene B) L I vpgwo IV ol Ho sluraaar

(C) I wpmw [T’ Gib sflwrerene (D) I womb IV b G sflurerened

40 . | '®)
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103.

104.

" 105.

The colour of tomato fruits is due to the presence of
{A})  Anthocyanins ' BY Carotenoids
(C) Flavonoids ' (D) Tannins

sharaf upsfic eudmanspe D sremiuBib AurEmes snreTLTELD
(A)  pCsmesuaienser (B &GUI’TI._Iq_GBTI:ru'JG\EGiT
© (Caeemi@sdr © 0 © (D) GLelenser

Which of the following is odd one out? .
(A) . Fillicophyta B/ Hysterophyta
(C) Lycophyta o (D) Psilophyta

&g}gé&&n@um@ﬁ)gmm QuirmEsophass GHuAha.
(A) 0 CET ey ) (B) mﬁlmmqﬁl;rrr."uar;un'_l_rr

©) ' ewsGerieaullr - ' D) aenGonleul_

Cycle dynamo converts

(A}  Mechanical energy into thermal energy
\(B’ﬂ Mechanipai energy into electrical energy
(C) Electrical energy into light eneréy

_(D) Electrical energy into thermal energy

ulFlauairiguilas 2 srar epLenGLom WIHpieus

(A apdiy D HmEDD (f;lsutlu SLDDATE

(B) - apfr yomew Wlew sy ppeons
(C) - flen gyppeve el yHpars -
(D) Aer gpmera Geuliul gyHpeTs

411
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106

107.

Which of these connected in parallel in a circuit will produce undamped oscillations?

. (A)

R, L (Resistance, Inductance)
R, C (Resistance, Capacitance)
C, L (Capacitance, Inductance)

R, L and C (Resistance, Inductance and Capacitance)

Beudmien erzenan W shBlen Ussaiml e Genamssid S umT e FaT erpuiHib?

(A)
(B)
©
(D}

R, L (BengenL, anblarein)

R, C (BlerganL, Léle%rcgéﬁ)

C, L (WenGgadl, LSanflaannid)

R, L mpoib C (WergeaL, Wenflanewd wombd 6aGass)

Which of the following statements are correct?

In an isothermal process,

(@)
()
(€}
(d)

Ay

©f

the temperature of the gas remain constant

the gas does not take any heat from the surroundiligs
the internal energy of the gas remains constant

the pressure and volume of the gas remain constant

(b) and (c) are correct (B) (¢c) and (d) are correct
(a) and (¢} are correct (D) (a) and (d) are correct

G Qarhastiul{Hdrer snhmnssafle eraneu s UJITGBTGE}GU?'

e swbelsublae flapalia,
(@  2ps aunueller Qeuliublenar LTPISSMEGLD
()  Sipp ey spRCUPEHNEHS abs anigd a@Lddma
(¢)  eumyedlen 261 b LIPTEETED
(d)  eumyeiien B|PHSL DML UFLDET LTDHISSTEID
(A spm (b) wHYD () eflwumareoa B) spy (¢} wHmbd (1) sfiwreareaacy
(C)  sbm (a) wHmbd (c) a:rﬂmrrwmm D) sy (a) wHmbd (d) sfhuraemen
42
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108.

109.

Match the following blood pigment with their colour

Pigment Colour -
{a) Haemoglobin 1. Green
(b} Hemocyanin 2.  Red
(c) - Chlorocronin 3. Brown
(d) Pinnoglobin 4. Blue
(@ (b (c) @ '
A 1 2 -3 4
B) 2 3 4 1
(C) 4 3 2 1
oY 2 4 1 3
&S fodsamer oisan AnsHne appany silwne durmsgs.
Bl Spw
(a) ~ ablGorgCermilen 1 LIFeng
(b) afGuorenawiraflcr 2. - feily
(@ @CamGrrgGrraflen 3. yyeyew
(d) eaGanmEGarmSen 4. febd
@ ® © @
A 1 2 3 4
B) 2 .3 4 1
€y 4 - 2 1
(D) 2 4 1 3

Consider the following statements.

Assertion (A)
-Reasan (R)

(B).

(€)
(D)

A drinking expectant mother can harm the embryo.

The alcohol can pass directly into the blood stream of the fetus. -

- y(A7 Both {A) and (R) are individually true and (R) is the correct explanation of (A) ‘
Both (A) and (R) are individually true but (R) is not a correct explanation of (A)

(A) is true but (R) is false '

(A) is false but (R) is true

SPESETEYD unEGHwBIEmers SeuasEle Ga;rrmss

6%1!"1'3@1 (&)

aiI'I'IIGEDTLb (R} :

(A)-

(B)
©

)

@lq.&@m i Sanf] G, g,sm GRH®S ueTi§l&E g,jmugjggj@mg;rm

gLreand BréssHen s Gphmsss dshddams.
(A) wpmi (R) @yearhii #fl. (R} eramug (A)adibg sflumer eflarsgid

(A) wpmd (R) Qyan(@ub sfl. (R), (A)éeg sflwmen eflaTéELI0aa
(&) oM e (R) seums
(A) gaumy e (R) #M
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110. Photochemical sn:mg is formed by
\Qj\,/)/"i 0,, NO, H,0,, organic peroxide etc
(B) Consists of mercury and lead .
{(C)  Consists of NO, and CO

(I)Y  Hydrocarbons .

epafl Gaudluid Laflliyenes o ewTL_T&S STrasTh

(A) .&g,,é;mﬁlga&r; @BLren paamen (), enal rmer Susama(h, < Tenalls Quirepsmen(d ete
(B)  unrggEd WHML STTWLID -

(d) | enh el el H@ev (R npmid sriLes Gorearmseen

D) eapl Gy &rirLsm

111. CD-ROMis a
(A) Magnetic memory " {Bi / Secondary memory

()  Semiconductor memory (D) Memory register

&y -Cymid eTamug)
(&)  srpg Hlaausd . . (B} @s;aém;nm Elane Hlewenasmib

€©) «ffps s Hlaaeusd (DY  fFevareus udlGeu

112, Transfer of a file from a server to your computer is called
\(ﬂp Downloadiﬂg a file (BY Uploading a file
{C)  Transfer a file - (D) Change a file

- Qereufldmbey 2 arayeL saflaflsE o auma GLorHmpb dsdams

SiapsstiLHng)
(&)  ouae uflelpssh Qaiised (B)  eume uFCaunmd Haiisd
(C) . oue® @Librhpid Gedisea (D)  evueo® LIHOIGH

GS17 . . 44
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113. Match List [ and List II and select the correct answer using the codes given below :

ListI List I1 | \

(a) . Trc-pc:o'e.ph’ar\s.b - L Ultra violet rays

(b) Stratosphere . 2. Réidjowaves

(c) Ozonosphére 3. Movement _for jet planes
(d) Ionosphere . 4. Weather changes

@ & © @

A 3 4 - 2 1

®) 4 2 1 3
4G & 3 1 4 '
oy 4 3 1 2

uCguies I~ecer tigue Il-year QurEss, ulpudsersEgs §6yp o.der Qe mbe

sflwmar eflen_uileven Gpfley Cela:
| Culgue ] o -- .l tgwen IT

(é) . CCrmuGumenidwi 1 U oargr sfliser

(b) GhJiq.GlJl'_GL_rrrafuﬁ]u.lr'r . .2. < CrgGwr senaaar

(¢©) @CsnCammevShufr 3. Ol eungrid LupsEb LG

(d}) CGurGemeuidir 4. . eunaflepe THDHD

(@) ® T © (d)

{A) 3 4 2 1
B 4 2 1 3
© 2 3 1 4 '
D) 4 3 1 2
"0 o : - 45 S - GS17
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114. Match the items gi.ven in Column A with the items in Column B.

GS17

{a)
(b)
{c)
(d)

&)

(B)

NC)f

(1)

Column A

Coal

Aluminium

éopper are

Iron ore

(a) (b)
1 2
3 4
2 4
2 3

Column B

1 Sulphides

e

Bituminous

3. Magnetite

4, Bauxite h
(e) (d)
3 4
1 2
1 3
4 1

Qamgd A-anal Agn@d B-ay_dr Qunmsais.

(2)
(b)
(@
(d)

(&)
®)
©
o)

Qzngd A
Hlevgsf -
é@uﬁlaﬂmﬁ)
Gleby srg

@by sng)

(@ @
1 2

3 4

Ggred B
1. sweoul®

2. G Bl

3. Gudanent
4, UTSang_
{c) (d)
3 4
1 2
1 3
4 1
46
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115.

116.

The Bokaro steel plant was set up in the year
(A) 1970 (B) 1967
'@{) 1973 . D) 1975

GurssnGrT @by Asm@haname Bmelun’ | aimLwD
(4) 1970 ‘ : (B) 1967

(C) 1973 ) ) 1975

Match List I and List II :

List [ . List IT
(Crop) (Producer) l
(a) Tea 1. Gujarat
.(b) Rice 2. Kerala
(¢} Tobacco 3.  Assam
(d) Rubber 4. West Bengal

@ ® © @

@ 2 4 3 1

® 1 - 2 " 3 4 N

€ "4 3 2 1 '
Wy 3 4 1 2

aems L wpyh aws -yoer AurGSss :

euans 1 cuens 11
L (Lai) ' (e pusBuimeri) - |
(a) - Gasulena 1 GRS !
b))  yfNd 2 Ga&perm
(0 ymsdlea 3. SIGVERTLD
(d) gl 4 GuhE eumiETemD

@ ® © @@
A 2 4 3 1
B 1 2. 3 | ®
€ 4 g2, 2 1
D 3 4 1 2

. " : - 47 o ) GS17
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117. In India the electricity consumption is given importance to the following sector-order it

according to the importance given by the government

\Iﬁ@ Industry, agriculture, railway traction and public lighting

(B)

Agriculture, industry, public lighting and railway traction

(C) Agriculture, public lighting, industry and railway traction

(D) Industry, agriculture, public lighting and railway traction

@pdurelded SpssavL geonsald Wdareny metabhE wsHusgend QarhasiLpang — s

GarBaEd psfluggeun Grsmbd ss AuEEEUEESS. -

(4)
(B)
(©)
®)

118. Match List I with List II and select the correct answer using the codes given below :

QsmPpsienn, efausmugiemp, Grudla Curs@arss whmb Aurg gafiliu@gsisd
efleusrub, Qgrdibgien, Aurg eelluu@dsae wpHD Brulld CursEarss
sfeugmub, Gung gaftuLBSssD, Asndhgiap womib Grda CursEeTsa
Qamfpgieen, eleismub, Qung gallIL@dgse wHMID Fruis CursGa TS

| List I
(a) Vasanta
(b} Grisma
(c) Varsa
(d) Sisira

(a)

(A 4
® 2
) 3
@Oy 4

euflens I-2 L an cufilans [-g ey Qurmsd euflamssigrse S Qarssuin’ Herer CgmglAdimhe

List 1T
1. Summer
2. Monsoon
3. Winter
4. Spring
@ (&)
3 1
3 4
1 4
2 3

silwrer silen_ulenan Agia Gaits :

(a)
(b)
(c)
(d)

@
®)
©
(D)

G817

N R Ty
g

aiflens I
QUEHST
SAfevor
euTaT
Hadlrr

HMHN?
s g

auflens 11
1. CaranL smeuld
2. L(H8ud HTeD
3.  @eflitemb
4, @erCGauafllp Hrauid
(c) (d)
3 1
3 4
1 4
2 3
48
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119.

120.

121.

The figure of a dancing g-irl made of bronze is excavated in the place of

(A) Dilly : (B) Lothal

(Y7 Mohenjodaro . . (D-) Rupar

“lbﬂ‘l;lq_u.; LR’ eTenn beuaktsm e (heu GLIMbenlo i@ sam®h aHEElILCLg)?
Q) g ' © (B) Canssed
(C) QunséresnCpr (D)  muoni

Which of the following is/are wrongly matched?

I Bhavabhuti ~ " Malatimadhavam

II. . Subandhu - Vasavadatta

[II. Kalidasa _ Dasakumara Charita

IV. Dandia - Av:;mti Sundari

(&) IandIIl ' (B) TandII
(€ ILandIV @) 111 and IV

Nesraumaiane HOieT seupns QUTRSSIILIL HeTarg) 615)?

L vy Sl - DTS LOFGGauLD

L &b - arsausssh

1.  srefigmsd 5 SEHGLONY &rﬂg,gmb

V. g;;u'a'rqu_m C - Siauhd HHsi0

(A') I m,r'og;u_b 111 : B) Twpgw Il
© L IIwpgs IV , @) " 111 wiyg IV

How many major Indian private banks have been nationalised in 1969 during
Indira Gandhi’s regime?

@ 10 - S ® 1 :

(257 14 . _ D) 20

1969-b <paw® @pdor  srps %Lﬁuﬁ]m @ur@ aThgamer  @HHW gseuﬂu.trrrr euriidleer
CadunpwiordaiL L g?

’

Ay 10 : “(B) 11 |
€ 14 D) 20

49 GS17
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122.

" Match :

(a) Al Hilal 1.

&

{b) Navajivan

(¢) Bombay Chronicle 3
(@) Bande Mataram 4.
(a) (b) (@) (d)
A 1 2 4 3
B) 2 3 4 1
&' 2 1 4 3
o 1 2 3 4
- QUT(HESIS :
() =6 abicorad L
(b)  peu gheuen 2.
(¢ wbumi Agreslesed 3.
(d) eupBls wrgrbd 4,

123.

GS17

(a) (b) (©) (d)

Qa1 2 A 3
B 2 3 4 1
© 2 1 4 3
o) 1 2 3 . 4

Mahatma Gandhi
Abul Kalam Azad
Aurob.indo Ghosh
Phercze Shah Mehta

DB &1l
<SIL|6D HEULD ,&MTS
gu&lrjgj Gaaiy
|Sl(§'rjrrc:1'_°,,aq;rr Guogm

Dinabandhu Mitra’s first play
planters.

(4) Kulin Rulasarvasva

: (_Q’f’ Nil Darpan

Senupgy SEomeilan @pgd EBrLELTET
QanRawaaner QeuafiliLBGsHug).

(A) @l Gevsraurseur

©)  fe siuer

exposed the atrocities of the British indigo

(B) Ratnavali
(D)} Ras-lila

— padGaw GamgGar GariLssrrisafln

(B) rdameuaf
(D) gr&&San

50 ' O
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124.

126.

K. Kamaraj, participated in Vedaranyam Salt Satyagraha, he was imprisoned and sent to
the prison at - '

(A) Coimbatore (B Vellore
(C) Andaman ‘ : (Bﬁ Alipur

&. STGTST (Bmg,rrgmu_im 2 Ly &gﬁmn«ﬁu&g,ﬁa} sopg CSTERIL_SHETE, &g Q&u_lgj Hanpuled
BN @)th

(A)  Gsrwbuggnr (B) Geug_nfr
(C) opswrer ' D) ety

Choose the correct answer from the codes given below :

" (a) Assertion Y The Asoka Chakra found in our National flag consists of twenty four

) spokes. They are in blue colours.
(b) Reason . The twenty four spokes denotes the eight fold path of Lord Buddha.
(4J) Both (a).and (b) are correct
(B) (a)is correct, (b) is wrong _
(C) (a) is partly correct, (b) is wrong
(D) (a) is partly correct and (b) is also correct

&Gép QanPasul Herer GHuSGaaldmba slura sdeLmu sarRdly.

-(a) S(HES! : Bwg Cailws Qamguid o drer HGens s5EMD 24 YURISHET & ML UIF. DG
Bab fpn Qardrm_eneu. -

(b) &mpemrd : 24 yrisEEnb Lggfler eranreuifls @a;rrmma;smm&. Gh&Sanpen.

4)  (a) wpgib (b) GrawBuo sl B) (a) &M, (b) sy

©  (2) ug G af, (b) s (D) (a) én @D, (b) yib s

Our National Anthem was composed by Rabindranath Tagare, it was first su‘ng in the year

(A) 1905 . By 1906

@ 1911 @ 1912

Bg Cadlw Egg,cmg, o (meunsdwaur @l}mﬁ[_ﬁgﬁlr}g&r@ Sanlt, FUILTL& (pge pewrs Gmede L
e

(&) 1905 (B) 1906

¢y 1911 . (D) 1912

51 : GS17
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12:?. Match List I with List IT of the following with suitable options

. ..- ListI | . : List II

b (a) Virupaksha Temple 1. Ellora
( Kailasanatha Temple 2.  Kalugumalai
(c) V;ettu'r.ax:l Temple 3. Pattadakal
(@ Ladhkhan Temple 4 :

Aihole

@ © @
(A} 3

1 4 2

3 1 2 -4
© 1 3 2 4
o 1 "9 3 4

15-(35_) Qaan@éa&ﬁ;ul'_(adrm u_gwe I Sigppg uliqwiea I Qurmgswraubenn CairhOs(HEs.

QELSTTIER | L igued 11
(a) efimuasr Camlbld . 1. Gréu(ﬁa)r}[rrr
(b) msmrr&‘[arr‘é.,fr (‘Iéasrruﬁieb 2. S(LGLDENED
(c) G@.II-_@m‘F.GiiT Ga;:ruﬁ]d') 3. LI L L &ael
@  wlsner Camae 4 Qs

(@  ® @ {d)

(A) 3 1 4 2
(B 3 1 2 4
€ 1 3 2 4
o 1 2 3" 4

128. Chinese pilgrim Yuan Chwang visited Kanchi in .
&) AD. 640 (B AD.500
(C) AD. 150 - . (D) AD.720

S wigian weure et sngflenins Lmirenaud L gy
A  A9.640 . 3 - (B) £.9.500
©  £.9.150 . D) 49720

GS17 ‘ Y59
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130.

Consider the following statements. . - \ , 3§ et
Assertion (A) Gandhiji started civil-disobedience movement in 1930.

" Reason (R) : Therefore, the Indian National Congress party did not partlclpate in

the first round table conference held in 1930.
(A) Both {A) and (R) are true and (R) is the correct explanation of (A)
(B) Both {(A) and (R) are true and (R) is not the correct explanation of (A)

' (Qﬂ (A) is true but (R) is false

D “A)i i8 false but (R} i1s true

Epasrgnd crsdwukismar saaghe Gardrs.

apm (A) : sl sar 1930-0 sl opoy Qussimgs Cgmtiflearmi.

sryewrd (R) 2,5Ga1, @ifHu Caflw asrrrmé]rmu &L 19306 apse . culL Goems LDrI"rj‘)lTI_lq_G‘l)
' s@pg Csrararelleemen.

(A) (A wogs (R) &ft. (R) eramugl (A) eflpg sflunar ellensaid
(B) (A wogw (R) sl wbmb (R) Gmnu@j (A) eﬁ'tm@ FhlwmeT eNersswae

(C) (A sl spame (R) seuny
D) A saum yemar (R) &)

Consider the following statements. . _
Assertion (A) :  In 1916 Annie Besant organised the home rule league at Madras.
Reason (R) : Its objective is to achiéve home rule through constitutional methods.

m Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true (R) is not the correct explanation of (A)
(C) (A)is true (R) is false '

D) (A is false (R) is true

S1pseirL_ eurrasaﬁhurmaasmrr seuaflasab.

sam (A) - : 1916 b ek é.'usmeaﬂ Glugesr @&mmﬂﬁuﬁlm gsﬂmrrr_é] FEEHENS

. ammg,srm
anyenrd (R) 1 aqr,nﬂu_isummuq apanmudey gmsmruﬂ 2ianLauGg @gaﬁ Gg;nesesmrr@m

@A) (@A) wpgid (R) Grear@Gu o Guogid (R) erarug (A) e shwrer e.slm:mm}r@m
(B) (A wopgbd (R) @ran@GOuw & ngmm (R) ererug (A) raﬂg)@ sflwrer eflerdEioame
)y - (A) sl t%s(m're:u (R) seumi -

D) (A saup e (R) & |

53 N GS17
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131. Consider the following statements consisting of Assertion (A) and Reason (R) and select
your answer using the code below.

Assertion (A) :  The main political task of the national movement from 1870 to 1900 was |
politication, political propaganda and education and formation and
propagation of political ideology.

Reason (R) : The press was the Chief instrument for carrying out this task.
(&)l Both {A) and (R) are true and (R) is the correct explanation of {A)
(B) Both {A) and (R) are false

{C; Both (A) and (R) are true but (R) is not the correct explanation of ()
.(D) (4) is true but (R) is false - :

Setreu(mo Gin cursfwrigafids Aaresiul.Gerer sbmy (), sryemd (&) pfuameusnet SHeH o
Qaraw® &G GarGsaiulHerer Qurgldd Bumpa e hadr dlen e Agfley Qewis.

gabm () 1870 qapséd 1800 aueny Gsdw @u_lé;a;gﬁe'b'r @ﬁ)‘lé&@&rrmrra: aStenmidlug)
au@mwn&@g,m Sirflwer dgseman, soel LOMG  Srdwd (Eaam_um_am_
2 (Heumsdl Ll ge. ’

anpeh (&) : . gesflasms wmw usSflsmasmaen Apsdlul FTSRNDTS ummu@gg,uuL_i_@
(A) (&) wpmb (&) 2 @remud sf (&), (a) eflen e eflet&sLh

(B) () oy (&7} Brasr(Hitd saim

(C) (&) womb (er) ZirarHio gaflssaflCu efl anrd (8r), (an) elenm sflwiran eflamsand b
@D (o) oM, (o) goumy

132, Which of the following statements is TRUE? _
1. The Government of India Act, 193.5, introduced dyarchy in the provinces.
I1. India council was formed in 1935. _
[1I. Montagu-Chelmsford Reforms Act introduced dyarchy in the provinces.
IV.  Provincial Autonomy was introduced in 1935.
(4) TandlIl _ B) Ilonly
(C)y Illonly ) IIl and IV

Sipsaamsupmer #fwmeng arg/erenan?

L. Endwu orss s b, 1935, nrflaksatic @l el <l Sanw siflupsiu@siiug.

IL @sdlur seyendla 1935-a Agmrisiinn’ L g).

II.  wrar@L@-GswevGuri®  &Hmsss s Lid  wrflomsalde Grie sy faw

S BlapsinBsdlg.
IV, 1935- wrfle swrléd gpuBssluc g
&)  Topon IT ' (B) Il (Gw
(Cy IIuwlEbd - (D) I whmid IV
GS17 54 | @]
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133, If the sum of two numbers is 1020 and their difference is 140 then the numbers are .

- (A) - 680, 440 ° , o . w . (B) - 540’ 580 1 -
of! V580,440 v Bt R ST .

-

G aanasaflen st Mg Lgrenas 1020, nHmib oeupilen eflggunsd 140 araflés, ibg erewrset

(A) 680, 440 (B) 540, 580 .
“(C) 580, 440 ' D) 520, 500 . -

i 134. Monthly expenditure of a person whose mont}}ly salary is 9000 is as shown in the diagram.
) The percentage of money spent for medical expenses is

-

Food
exXpenses

A 10% @) 20%
(C)  30% ' . D) 40%

. 9000 wrs &Lousﬂﬁéieu @@@m Epaewreumy Uamdang dowey @&mg,rra) SIeUt TG EE
G]&suaﬂg)srras uu.:arru@g,@u_l vergHles egeig

A 10% - ®@ 20%
©  30% - ' (D) * 40%

[Turn over
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138,

The value of 2,58 % 248 1.52 %.1.52 is
: 0.96 )
&l 40 _ B) 44
(C) 14 : M 10
2.48 %« 2.48 - 1.52 x1.52 e .
0.96
. @A 40 . B) 44
(] 1.4 O 1.0

" 136,

138.

G517

If 2% =2 =16 then v is

(A)‘ 2 . By 4
@' o ™ 1

2% = 2":’ =16 arafled Y peng)

A 2 ' - ' (B) 4

e o ' ™ 1

If x+y=12 and zy =32 then L+1 is

Xy

1 1
A — =,
(A) 5 (B} 2

1 3
C k= . =
© 45)) -
.x+ =12, xy =32 ¢rafle -1—+l =0

Y 1 XY . Xy PTGl

1 . 1
@ 3 ® <

1 3
1:2 of 63229 |

i 10 9 )
4 1 : @) 0
© 2 ) =
e _-3.— 3 E - E _._2...=9
1- (610 e 7 LIBIS) 3=
A 1 ' B) 0
’ : 1

2 ol

©) _ D) >

36
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136.

140.

141.

By sellmg an armcle for Rs. 480, a person lost 20%. For what amount should he SEH it to
make a profit of 20%? . : . P g
(A) Rs. 800 ; : (B) Rs. 760

/] Rs.720 ) : (D) Rs: 680 S R

e e Qummetlenen 480 apUTLEG edpuemenr QelSTD, ouHES G,rg';u@ub Bay b 20%.

Semae 20% Genrub daéss CeuanHib erempma, 2Bs1 Gur@peflanas Beulr oThsaman MHUTLIES

ehlng Geueam(Hb? .
(A) - . 800 : ®) . 760
(O . 720 : (D) . ¢m. 680

The highest common factor and lowest common multiple of two numbers are 12 and 144
respectlvely If one number is 36. Find the other number -
(A) - ' : B) -

(© 36. o ,(Dﬁ«w

B eramsaflar BUCLIW Qurg amefl (eugsd) 12, B&fiy Qung) oLrig 144. qm aam 36 aafld
LD NG 1T (1h, 67 60T 6REnTd: HTEHTE.

(A) 49 : . , {B). 50

© 36 ' (D) 48

Three numbers are in the ratio 3:4:5 and ltheir LCM is 240. Then the HCF of these number

18 . ,
oy 4 : . ®) 8
2

© 12 - (D) 20

3:4:5 eranp AHssHe o 66 epenm aamgeflan 1B.AuT.w (B&dmy @urr:g,j wLkig) 240 erafler Gaup e

B.Qum.a. (BLCLm Qurg sryenfl) eranen?

(A) 4 _ @ '8
e 12 o (D) 20

LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600. If one
number is 280 then the other numberis &’

@A), 40 ' (B) 60

-

Q) 80 o (D) 100

G cramsafian 15.Qum.wo <eng Sjeupdler 18.0urs. eflenr 14 wLmsrgw. BS.0umw whnb

B.0ur.s. eflen gnpgen 600 e eret 280 eraflléd WHG D iI(H eTeRTaM TS
(A) 40 : (B) 60
(C) 80 (D) 100

57 ' GS17
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143.

144.

The cémpound interest on Rs. 30,000 at 7% per annum is Rs. 4,-3‘47. The pericd in years is
u 2 o ® 2= '
© 3 . D 4

rHEG 7% @ euligulle, @ 30,000 apsdiigpanear aulis . 4,347 arafied sy SiaTe) eTgaman
g am(paar erends e (B Gy : ‘
@ 2 . (B) 2%
© 3 : D) 4

A sum of money doubles itself in 20 years in simple interest. Then the rate of interest per
annum is

@ 5% ' (B) 4%
(©)  55% ' _ (D) 4.5%

(% Dgmens gaaﬂsul_tq_uﬁlw 20 ey misetied @ tisrsng) GI'GEﬂGU eU(RLSHDET e eui_tg eﬁgmnmg
A 5% : (B) 4%

(O 5.5% o : D) 4.5% . o !

145.

1486,

GS17

The difference between compound interest and the simple interest on Rs. 1,250 for 2 years
at 8% is -

(A) BRs 2 : (B) BRs. 4
(C) Rs.6 ) ()7 Rs.8

8% euliguien 2 QUL EISEESE  aHLIM 12508535rraﬂ am.@ajuq. LDngjLn sefleu &g wmen
s Huwingomang, 2

A mumi 2 (B) epumi 4
(8] @u‘rru'.l 8 . ) T D) epumd 8

A flower garden is in the shape of a rhombus. The length of its diagonals are 18 m and
25 m. Find the area of the flower garden.

(Ay 450m® @) 225 m?

(C) 324 m? (D) 18m?

R HOSTCLID & 5817 augelld o drangl. igen apone el L msdr 18 18, 25 8. ypGsmiL s8en
LIFUILIGTG| STe0TE. .

(A) 45052 . (B) 2255

(C) 3245 (D) 1882

55 ) O
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148.

149.

' 150.

If a square and a rhombus stand on the same base, then the ratio of the area of the square
and the rhombus is
(A) greater than 1 877 equalto'l

(C) equalto é— ) (D) equal to i-

F&ITLD mmgm FMUFSITLD @err@m @Gr .@{Lq.uuasasgemgas @aarrmq.@pgrrm IO HMID sTIFH TSS 6
urliuereller allflgorang :

A) g ofswrgh (B) 1ls@E swwmrEbd . -
(C) % & (& FDOMEGD ) (D) -}I & (3 FLOOMED

L

Two taps A and B can fill a tank in 10 hours and 15 hours respectively. Both the taps are
opened for 4 hours and then B is turned off. The time taken by A to fill the remaining tank
is .

(A) % hodrs (B) % hours
(C) 6 hours o ‘(Iﬁ % hours

A B véreiﬂg} Gurisdar e Osmgulienar apepmGu 10 womb 15 weafiGrrsdlad Hlriu @uenb,
@re® GrersEsn 4 waflCrrw Sobg eALOuUlR 9pE Gerl B o ssuu®pg. @g,rn_mruﬁ]em
ergrlw ugHlanws Bl @Egmu A ﬂ@g@a; Ga;rrm@m Grrwreng . )

" (A) 14 wenfl Crrw " (B) 8 mmﬂ@mgw k
o . 10
© 6uwaiGerd D) % afiCrgh

!

A and B can do a work in 12 days B and C can do it in 15 days C and A can do it in 20 days. - .
Then the number of days reqmred to complete the work A, B, C together is

A 5. &} 10

© 15 - _ _ ) 20

g Geuenevenit A opmid B 12 prlsefigin B wpmpb C 15 priisafigis C wogib A 20 smseflgud
wpiLur arafles A, B, C G&ng@ é{ggs Geuenevenu (ig &8 GoenautiBibd prisaflsn creamranflsens

@A) 5 ® 10 ,

€ 15 - D) 20

If 9 girls can prepare 135 garlands in 3 hours, number of girls to prepare 270 garlands in
1 hour is

& 20 S B 54

(C) 43 . O 19

3 weafl Crosflad 9 Quansar 135 wra@samar g,wrrr?)aﬂmmmn GTGUﬂG’D ®(H ewfl Gg;gg,lé,]m
270 wrenesmer suntlés CaameniuHin Cuamseian crammentl&ens
A 20 (B) . 54
© 43 . D 19
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151.. The sum of numbers common to two diagrams is

£

(&) 118 ‘ (B) 110
© (). 108 - D) 130

_ Qs 1L (erer LL gl FCaEIb B euerruLIsEHEEH QUTgaNs o drar aansaier s (g

(A) 118 A ®) 110
(C) 108 | - (D) 130

152‘. (1} D is taller than C but not as tall as B.
(2) * Cis taller than A. '
Who among A, B, C and D is the tallest?

(A) A ’ (Bﬁ" B
) C - ' D) D

(l). D aréitusu C—gg eflL 2 wigwrensur yenmay B eeraé@ 2 wndeme. -

2y  Cadmeur A-g el 2 wpnrenaul el A, B, C wpgith D-ullé) 2 wywmereu wiri?
A A (B) B

© ¢ - . @ D

GS17 ' - 60
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153.

154.

Find the next diagram.

Mg

@) - L‘

o |

o | [

®) (_-_:

SB5s UL gdlemer se7H 1. ;

T g

(A) h '

C

(B)

© l—\

o | [

-+

Find thnNesing number in the following series :
1, 8,9, 64, 25,7, 49 '

-

&) 210 ® 212

€ 214 - @ 216

Slanaipid Ggmfe eSlGuL T GROT G0 SITGHT -

1,89,64,25,%49 . |

(&) 210 - (B) 212

(© 214 D) 216
61
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155. Match List [ with List IT and select the correct answer using the codes given below the lists :
List 1 — Officers : List IT — Charges
(a) Rajukas S T
(b) Pradesikas ) 2
(¢) Yuktas o 3. Revenue Collection and Police
. (@) Dharma Mahamatras 4 District Judge

Religion
_ Secretaries

@ ® © @

& 4 3 2 1
B) 2 4 1 3
C) 4 3 1 2
Dy 3 4 2 1

aufians I o ar aufleng Il—eneniy Glurr@gﬁ mrﬂm&a@a;@ &1 Q&ﬁ@asEEI_IUI_@GFI‘GT AsreLidGig
sflwmen eﬁWmL_Gnu_lg, Gaitey Qe :

cuflens 1 — Sifan cuffleng 1T — G]urrg;juu
(a) . grgrad 1. FIDWILD . o
(b) DoCsefa 2. QawaneT (ioag) arilugilf

) was
(dy . smo wsTorgHrT

mﬂm@d) WwHmb Sreud

wreul eSS

>

@ ® © (@

(A) 4 3 .2 1
®) 2 4 1. 3
© 4 3 1 2
‘) 3 4 9 1

156. Which of the following known as complete fertilizer?
{A) Nitrogenous fertilizer . ' (B) Potash fertilizer
(0f' NPK fertilizer (D) NP fertilizer

EpasamL e fraadia wpupamuviner 2 nb 6rg?
(A)  eplrmer o gruger B) " Qum ey e graser

(C) NPK epriusen E (D) NP opnger

GS17 . - 62 : ' 0.
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157. is called buckminster fullerene.

(A) - Diamond ’ . ~ (B) Graphite"’
@) c, 1 : (D) Coal
LGBlEnaVLT o sLjebeuiTer eTes BienpasLILI(Haug - G,
(A) b ) - (B)  Agmeeenil
(C) Cao ] . ) . n D) =& :

158. Which of the following is halide o_re:? .
- (A) Dolomite (B)A Rock salt
(C)‘ Bauxite ' - (D) Galena

S pssam_cupger arg Canaa® srH?
(A)  GLrmaentol” (B) urepeiy

(C) ursenevl : ' ) seSen

159. The major component of natural gas is
(A) Ethane &/ Methane
) Buta;le ) " (D) Propane

@uwhers aimueild Guasb Lkig Gumeig
A, mGser - - B) BCger
(€C) Gy Cen . _ . D) yGruGuéy - -

160. What is the literacy rate of female population in India in the year 20117
() 65.5 percent (B) 75.3 percent
(C) 82.1 percent D) 64.5 percent

20111 syeimiq  @pHwnalier, wéser Osmasule waeflit appeult S5 orarem?
(A) 65.5sgelizn . ; (B) 75.3 sgaisi y
(C) 82.1 szelisw . - (D) 64.5 gsaisd

o - ' ' e . - . .GS17
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161. -

Foreign aid can I'Jerfornﬁ the following gap filling functions in UDCs, -

1. Savings gap

Foreign Exchange gap

1L

1II.  Technological and Management gap

IV. ) Natural Reaourc'e gap

(A IMandIlI

(C) " Tandll )

sz? I, IT and I11

IT only

cuenited) gendlu piGeelon GeuelisT () Hwurag Spssranid Be Qeuefsmar SriLs Qeddog

L Gelllay Bleot_Geuaf

I s Qsmerad Ge. Gaiaf

Ii. Qgmfémiu wpmb flieurs @Gﬁn_(a;uaﬂ

Iv. Bupens cuer @len_Geuaf]

@) I opmos I (B)
©  Topgo I D)

- {0

163.

GS17

-

1, T wpe 111

IT 1ol (b

The growth of which one of the following remains an important objective and necessary

condition for inclusive growth?

(4§ Agriculture and allied sectors . B)

D)

Services sectors

Industrial sector

External éector o

EpaarLauppeT as@eLy aenidfl sy CHTasLTsaD. o dTerlsful euenTEfEE oeudlw

Blussewanurseard Sapdng?
(A)  Geuenmeir oMb &S &)EHDEHET (B)
(C)  Gomeug grenpser (D)
Dunkel proposa'i was related to
W GATT ®)
(C) IMF (D)
Laser S b @sen e Qgm T jen  gr@
(A) sm @u LB (B)
©  udnan (B8 D)
o ' 64°

Asmfibaienm
Qaueflymeggiamy

UNO
IBRD

BESL BTG Denes .

o 5 Uil
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164,

165.

Consider the following sta);:ement :

L. India is a majo-r energy producer

Il. India is a major energy consumer

II1. India faced power shortage since 1950-51

. Which is the correct answer?

(A lonly ° - . " (B) ‘Ionly
(C) .landlonly - - WY I, 1Iand Il

Epsaanr_ cunEEILIRISET Seuei @

I 2HDR s&glepws &@GUJTS@LD apsslul ;brr(Be;aﬁaJ @;r;ﬁumeqm Qe .

II.  sypné ssHenw =iflswTs pamb prHsad @baHumalib e

II1. 1950—51@51@;5@ BpHureiicr dme s58 Agmrihg; u,r_r);urr&@mg)u_lrr&-(‘ém o _aTeTgy.

@eunmiar arg) #flwrer eflen?
A Iwi@o . (B) Hw @b -

© Topgwllwc@bd, | - (D) I, Il wppwn ITT

Consmler the following statement :
Statement I :  Gross National Produet will always be more than the GDP.
Statement I1 - To get GNP, net factor income from abroad is added to GDP.

Find the correct answer :

(A) Both statements are 1nd1v1dua]ly true and statement IT is the correct explanation of
Statement [

(B) Both the Statements are 1nd1v1dua]ly true, but Statement II is not correct
explanation of Statement I ’

(C) Statement I is true, but Statement II is false

\J7) - Statement s false, but Statement II is true

&lepsa;sanL cursRwtisenen seuet

sug)gjl Lo Quags sri® 2 pusd  eruQumupgind QLDIT'&';,&') La'r;brrl._@ &mu,sélmu_l st
2ifiswrsGe §masLn. :
sa.0ml II : o Qurss Bl epusdewn  dupeusne, G]mrrg,g; 2 dBT (B eDHUSSU|L
- Qaefipr@edie @Q@ps Sas@bd bHay arpefsaier eimoragamsun Corss
Geuestr(HiLd.
Gleupmiar erg) silwiren aflenL_? - : . . :
(A) Qrenh smpoms@sto gaﬂg,gaﬂ(}?u e amene Cogie spy I, =mpp lsg sfiwner
" alen&&Ww TGO,
B) @rean® eamg)gpja;@(&.n gauﬂg,g},saﬂGu_l EmUJI'I“EHTGE)GU @wg;uu: aamg)_r:r;] II amhn lés sfwner
eflaTaginaa

(©  smpm [aflu rra;Tg, @pemd s 11 g,mg)rrmg,j
D) snm I seupreng), e sappy [1 sflwireng
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166. Consider the following statement :

Assertion (A) . Price policy aims at controlling fiscal deficit.
Reason (R) 1 Fiscal deficit léads to inflationary pressure.
Which is correct answer? ‘

(A)  (A)is correct but (R).is wrong

B) (A is wrong but (R) is correct

(C)  Both {(A) and (R) are wrong

@) (A and (R) are correct and (R) is the correct explanation of (A)

*

£g;-é;a;6tim_ aun&Ewkisaer seuail ;

sapom (A) Aowd  LBarams RAL uppragepeew S sLEUUESEWL ChTésd

oML ILSTGID,
snramid (R): BELODDTEGRD Lawelss D(pSsEms o aT_THE.0.
Deupmer eflwimer affent orgy?

A (A) &rﬂ_u_mﬂrg,j pamed (R) seuprengn@ld

By (A peuprengt ypenmav (R} eflwiresgngh

© (A wpgd R) @renGio sauprarear a,eib

Dy (A mﬁ;@;[n (R} goasr@ib sflwmssnes wpmib (A) & (R) sflwrar aﬁ]mésa;mn@Lb

167. Who was the Chief Guest at the 45 Independence Day celebration of Mauritius?
(A)  Mr. Najib Mikati : . (B)) Mr. Pranab Mukherjee
{C) Mryr. Shinzo Abe (D) Mr. Gabriel Costa

GlomSwe Brigar 43-cug aphilr Sargganm Aply dipidHentes saupbs Qs wiri?

A  dm pgdublamy : ®B) S Qrerl qpsigd
©) S BaCour G D) A smANCW Ganeon

168. Who is the winner of 2013 Pritzllcer'Architecture Prize?
W) Toyo Ito (B) Jessica Ennis
(C) Seth Macfarlane - {D) Simon Haves

201310 gyenésrar A evst s same uflans Qeugmpeur wmi?
Ay  CurGur G (B) Qgmefan eranafien
(Cy Gss QuauiQeCen (D) enswer Gamen

GS17 66 o o)
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169. The world oldest lady Koto Okubo, belongs to which country?

170.

1

-

1.

&) Japan : (B) China
(C) England (I Russia

2 avdlem euwgnen Guampeafliren CarGLr @Cur ahs B & Gerpgealf?

(A)  gluuner i B) &eamr

(O gnéeorps . D)  yeigwr

Match the following awards with the respective fields.

(a) Borlaug Award 1. Science

(h) Nehru literary Award ‘ 2. Adult education

(¢) Shanti Swaroop Bhatnagar Award 3. Agriculture

(d) Hari Om Ashram Award 4, Various facilities/eminent teachers

@ O © @

«) 3 2 1 4
® 2 3 4 1
) 4 1 3 2
(D) 2 1 4 3

SipaaT Hl(hEIEEHL_ 6 eTene! G]g,nt_frqémt_mmmgi)a)g) QU5 5i&.

(@) Currem aflmg : 1. ifleflwch
(b) Cprp oflQ@euref &bl (mHg) 2. g eupGgTT saall
©) spdl eveuepl LLErET fme 3. eflaugmub
d) aofl @b gevTbd g 4. - u%bGsugJ glenm = eflwirser

(a) (b) (e} (d)

(AY 3 2 1 4
@) 2 3 4 1
c 4 1 3 2
o) 2 1 4 3

Which of the fellowing is not correct about IRNSS-1B satellite?
(A} itis a navigation satellite
B} lifted off and placed in orbit by PSLV-C23

£

(C)  has civil and defence applications
(D) lifted off from Sriharikota

IRNSS-1B Qeupenss Carer gHlse Sipssam_supnier erg sflumamg) sidea?

B) 25 goaflan Gid QeubassGare '

(B) PSLV-C23 o er{pggs Qadainl G spp eul L Lnrangudsd Slene Simissiu g
(C) Grrgpe wHmb EETEIGILD FATTS LiLTLRHLUF

O  BenlCam refledlmpg Qegussiiul g
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172.

173.

174.

175.

GS17

Which of the following states do not hévge tiger reserves in India?
(A} Kerala {IB) West Bengal
(Cy  Uttarakhand @) Jammu and Kashmir

Spssean wrflenisatie Ldsdr ungisriiush @G{mr@s G S wmbleo erg;)?
(A)  Gsgerr (BY Ciupe suigmemd
(C) o sgayaman (D) g HmD Sreg S

Transgenders were granted the status of third gender b)-! the supreme court on
(A)"  March 20, 2014 @) April 15, 2014
(Cy  June 15, 2014 (D) dJanuary 20, 2014

wrppOLTeggeauRameT ApaTpLDd LneSlemons 2 FFBSIoempId HBIESTIL sulpmdlu preT
(A)  wrig 20,2014 (B) qiipé> 15,2014
(C)  w@Parl5, 2014 (D) meeufl 20,2014

Which of the following pairs is NOT correctly matched?

Indian Scientists Field of Work/Research
A) C.K.N. Patel : Photonics and Laser
(B) Meghnad Saha s Astrophysics ,
{(C) Benjamin Peary Pal : Disease resistant varieties of wheat
(J.Xﬂ Autar Singh Paintal ": Cosmology and relativity

Slemeumeveneu e #Mudleoens Cemmiy. ergl? ‘
T @nbdiu sydlefiuemart G]&.tusnrr’r_b‘r_ﬁ]u_r Lyeuih { g pmisdsl

(A).  A.Cs.eren LG : sBurreflgsv whmb Gt

B Gusprs srann Cr aunet BupOud ;

{© Glu@mﬁ]siﬂ Gl wrey - Curdy gL Guip Camgentn euanaser
D) oyt fis musn aneoregd LD{_I")Q;Li} Frrirdhoa

Which is the National Sanctuary/Park that houses Pygmy Hog, a critically endangered
species? : )

(A)  Gir (B Kaziranga

()7 Manas (D) Periyar

PHOlEID LISHEE e L LRSsOIUL L Gannren WG] apnd ergyib o «Iflasden sramrouinrg o greT
Gadlu sramrenwib/ Ly BisT

A éAr : - B sredl prusr

Q) amen . o Dy Quflwrr
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178.

Name the proposed new dlStI‘lct of West Bengal State in "0 147

(A) - Nalhati .(B? Alipurduar
(C) Silda : (D) " Adra
2014 g c%emq.m Cup@ cukistergfd ySsrs Carhmedlssiueydrar wraul L b eg?
(A) npoanit (B) ey igeunt
{C) &ornm (D) olgw
Name ‘the Indian origin girl who was honoured as ‘Champion of change in 2014’ for their
exemplary leadership in white house? . . ’
. (4) Esther Yu Hsilee (B) Dayana Elvira Tores
-§] Pratishtha Khanna (D) Anahi Mendoza
‘@mma)m wraflensufiedr wrHms e Errgssmmu_;rrmrr 2014" eflgmg a.uc,prma‘il Qaenrelldaiiul . @B
aulbamaufl Guekmoestl wimi? )
(A)  erevgit yheves ’ - By gwment aréves i QLmrev
(C)  dGrdevgm apemat ' ) ' D} < errd) Quar@mrar
_Which glacial moﬁptain region was named after Indian origin scientist Sinha of U.S.A?
!  South Eastern Antartic (B) North west Arctic
{(C) Himalayan Peak Region (D) North East Alps
'&erﬂsarrmmep @pé}u efl@ghenral aﬂmgmrrsﬁlm Guwir sruu@élufﬂw oarer  ueflwanadeE
@l_l_uut_(QGrrm@? .
(A) Gaadlpss .g{murrrqa; )  (B) e |_th,r_b(aj g & _ -
O @uuwemeullar a‘-l&r:uu@ﬁ,l' (D) e dlpsa parien
Which is incorrect pair in the following regarding Indian Tribes?
-(A) Bodo - Asom "(B) Ghond — Odisha
(C) ' Munda — Bihar ' {7 Angami — Arunachal Pradesh
IEG%Q Qar@asta_Herer @b ugpr&@uéuﬁ]amrﬂ‘sb 15 E)enemTaeT FeuDTeg)
(A)  CuIGLT - 9Gsmb (B) Gsramin— @iqan ,
(C) gpawir — Gary | ‘ D) smsnd - smamea SyGaen
69 - GS17
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Which of the following is not true about Right Livelihood Award?

180.
(A) The award was established in 1980
(B) ° It is usually shared by foilr persons
() ltis known as Alternative Nobel Prize
H:ﬂ Prgsented annually in Brazil
sor_ enaeueliail eflgns! é’,@(é’;g &g;asmﬁm_rau;bcrgj@h oTEl &zﬂu_lrrm,sisbeu?
(A)  cueilmg 18980-1b ey ghuBigsiiu L gy
(B) Qungeuns amsﬁl@gj wan@ Gupmad L&kt Gmnmmuu@aﬁgpgl
(C} eveimg wrpm Curud uflsnss smsiLGAng)
(D) ﬁ,‘é&ﬂ@@gﬁgd} QGgsleller euprausiihHme
181. Match the following
(a) Rhinocceros 1 Desert Plains of Rajasthan
(by Hangul 2.  Kaziranga National Park
{¢) Gharial .3, ~ Gorumara National Park
(d) ) Great Indian Bustard 4. ° Dachigam National 'Park
. @ B ©- @
A 1 3 4 2
B) 4 2 1 3
© 3 1 2 4
Dy’ 2 4 3 1
Spaa_aupennls Qurmsss :
(8)  aweawLr O(HSD 1. guggevgnen Lremeveuan snGeuaf]
(b)  ammiisd 2 srAyRET Casélw L tisn
(€ snuy fle o 3. smwirr Cadlu s
(d) &Gy @bdlwarr el 4 Lndlamd Gl kst
@ © @
A 1 3 4 2
® 4 2 1 3
© 3 1 2 4
o 2 4 3 1
GS17 70
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182. IRV 2020 project is related to . -
(A)  Wind energy project ' _ (B) Solar energy project
(Y] Rhinoceros conservation project (D) Ganga River purification project

.
)

IRV 2020 i L ib eranigy @ s en Qsmiyen g -

A sy esd Sl (B) @M ssd Lo
(©)  eopCeamndyney ungsmiiy ;_ﬂf_l_!.b ‘(D)  siens pd giuewUUHGSD Hb

183. GM (Genetically modified) potatoes developed by British scientists is resistant to whlch

disease? - i
(A)  Block dot . 377 Late blight

(C) Pinkrot ) (D} Potato spindle tuber

ude fgpesrafsard GM (wjuan w8 mrrg)g‘)]mmma;&;uu ) &@mmaﬁ]@r&@ GBS,
Crrullenat eTH TG0 gmmmu.;sml_u.lgl? :
(A Menrms L
(B) Gal Qenari

(C) Yews gm_ :
D) o mears HALY &g (Gu rGLGLIT 6 Sleinig & LALLUi)

184. Which are the countries participated in the Bilateral air exercise named “Garuda V*
conducted in Jodhpur, India? ; ' '
&7 India and France (B) India and Russia
(C) India and America (D) India and Singapore

" @pSHwnaller Corgyi paflda pLssil L 5@|_rr W eTenib @RS euTEn m@]uuuﬁ]méﬁluﬁ‘lm FQbE)

QaEmeir_ BrHaser ereney ?
(A)  @idwr whmb Aymeey - (B) @bSwr wdppbd yeswr

(C) @rdur oo &erﬂésaarr i (D) @Eﬁu.ll‘l‘ Log')Q[Lb Sl

185. Graphene is used for manufacturing bendable smart phones What is the other field for
which it can be used? .

(A) Medical Radiation therapy ; (B) Super lenses
(C) Quantum computers . P Ultimate water purifier

oL GE&SIGW GLOMTL waiGusmen g;urrrﬂuuﬁa) Sy Se ummu@gguu@ﬁmg Cuaibd g

vwatu(HESULIHID gjan;o aTE? -
A  wEsse sHTeSEs sud Hamyemb (B) & eNlebenaser
L (©) (&EUNERTL_LD Seon| eaflaselr ' (D) . @oCul i ssdafly sngand
o . C om _ . GS17
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186. Which world heritage monument of India was affocted in the storm of May 30, 20147
{A)  TajMahal ~ 37’ Humayun’s Tomb
(C)  Tomb of Safdarjung (D) Sultan Raziya’s Tomb

G 30, 2014 ghulc que Ehpssrd srEslul @;ijﬂu_lrreﬁa'ﬂ 2 wa dysren seomdsny fanans

ergl?
(A)  grg wanme ’ (B) aforuér Go

(C)  slsmgmeé B - (D) s@gren puwr G

187. Which of the following disease 1s not caused by bacteria?
(A) Malaria (B} Cholera
(C)  Tetanus @) Dengue

S1paeir_sueseudmIEr, 67hs CHmil Limsle wNGaEarme o (HauTSsLILT5s?
(A) wGafiumr . _ (B) sTagT
{C) Quliiemsv . (D) (RTINS

188. Which isfare correct concerning the Administrative Tribunals Act?
1. It was passed in the year 1985

2. The Act includes both the Central Administrative tribunals and the State
Administrative tribunals

(A) lonly (B) 2only

()] Both1and?2 (D)} Neither 1 nor 2

Hiteurs Sruumurkser £_L1d Qamurs agl/areney sflwuramspeu?

1. =g 1986 @uimmiin’ gy

2. =g wsHu Hicurs Sroumud wrfle Hieurs Stuumuth < du Gramen_ b 2 diem_ddiwig
(A) lwlppb (B} 2w @
(C)  1wHmb 2 gdlu @remiud (DY 1 mde 2 e

189, Who decides whether A Bill is a Money Bill or not?
(A)) Speaker ) "(B) The Finance Minister
{(C) Finance Secretary (D) Leader of the Opposition

*

S wEsTHTaa Law wCETET eeTm aplyey GEiieug) W
(A) sunBrLET (B BE sieowndan
(Cy P Qeweren ‘ , D) aHrs’ g gwaeui
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190.

191.

Which of the following are/is stated in the Constitution of India?

1. *'The President shall not be a member of either houses of Parliament -

2. T_he Parlia

ment shall consist of the President and two houses

Choose the correct answer from the codes given below :

Codes : ;
(A)  Neither 1 nor 2 ' (B’ﬂ Both 1 and 2
(C) 1 alone (D) 2alone

Spsam_cupmer irfwueanliy FLLgdd @HuE_Oul (ererene srameu?

1. G Wras gepaweur LTTITEBLeD B Seeusaigid e pObemrs Gmée wr Lo
- 2. LRGN LD GraniiF) Gl \WT&E Senaeul oHpiD G, SiemeuseeTuib QEmew_sTE.
Epsa euflenguller sflwren eflenL_emw Gaira) Qg : . .
alflcos : .
@A) Bren@bioma . B) @renGid ‘

) gamwlGio ' 2 (D)  @raw® w @b

Who among the

following became the Prime Minister of India without being earlier the

Chief Minister of a State?
1. Moraji Desai
Charan Singh

2
- 3. V.P. Singh
4

Chandra Sekar "
Select the correct answer from the codes given below : ‘

Codes :
(A) 1,2and4

(C). Zonly

(B) 1,2and3

(]Zﬁ 4 only

Spsar_eairsafled wrr QpsorreusnE @,o‘a"murr& rBle (psaaITEaTTS u,ésaﬁl ma&lé&rrgé;r’raadt?

1. Quorgrell Ceemi

2, &irenr Sl
3. &9 An
4 spRrCea

cuflens :
@A) 1, 2wpyo

©)  2wlb

‘Sipasar_cupiled sflwren eflen_amw Gle_r)ﬁ‘rj,(;].g@ :

4 ' (B) 1,2whmb3
(D) 4wl

e ‘ : . GS17
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192.  The Chairman of the Official Language Commission in 1955 was
(A) Gobind Ballah Pant
&) B.G. Kher
(C) Dr. B.R. Ambedkar

) Santhanam

1955 eg.bLh g e < Edon yemeamugBles sammeursts L rhBsau
(A Gsrdg LITeuT LImei_

(B) B.G. Qi

(©)  LréliB.R. swpGussti

(D)  sBsmemd

193. The National Commission for reviewing the working of constitution was headed by
M.N. Venkatachalaiah was setup by the Central Government in

& 2000 _ ®) 2001
©). 2002 o . (D) -2003 .-

Sirfluaamonfer eudur_eL wnyoyle Geumgpsta M.N. QeukiaLrdedamaun genevenwudlé

CaHSL penemTiDd HEMOSSUIILL LT
" (A) 2000 - . . (B) 2001
©) 2002 o (D), 2003

194. Which Article consist of the provision relating to composition and its power and functions of
the Election Commission of India? . '

&) Article 324 - . (B) Article 356
. (©)  Article 370 L @) Article 243

ey elld QBHus Caisd 2 memirgdlen asn;mﬁu_{. DHsErTid Lng_ing;Lb UemilEener o_emene_&&lu jeeng) ?
(A ofd 324 B) o9$ 356
(C) &84 370 BN ‘ (D) <4 243
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195.

196.

" (C) 2, 3and4 (D) land4

Which of the statements given below is/are correct?

1. The State Election Commission supervises and conducts the Election of Panchayats
and Municipalities in the state _

2. It also supervises and conducts the Election of the State assemblies and the
Lok Sabha

&) lonly (B) 2only,

(C): land?2 (D) * None of the above

&G QarH&auLeudyeT erg Fflwmer S flsens?
1 wrfle Gsisd yamemud, wrhosdadrer LEsTUSS wHHL Berm_fsaflar Csigew
BLdgieugd, Gupurieaneuud Heugid

2. wrhle FLL_gamU HIHLD Waseraa CoTsasamer pLSgeugid, Copuimraeuud Hieugn
(A) " 1wl@wb . (B) Zwl@Ewn
(€ 1woppb2 _ D) Cupamdu asgiepfdme

Consider the following statements :

©73 Amendment of the Constitution has provided constitution sanction for

1. building a 3 tier structure of Panchayat Raj

2 rese;*vation of seats for women ) )

- A withdrawal of the right of govts. to hold elections to the Panchayats ‘

4 taking away the right of State Governments to give grants to the P.anchayats

Which of these statements are correct?'
«A) 1and?2 B 1, 2and 3"

Meseuhid sabmsaneT smEHld dardrs.

73eug oyFwae Hmss s wlargr A weinribio Wenaimeuemapmsi@E, eulfl DS Gsnigicrang)
i. uEkFTwLSFH TSl 3 PEE Wwearpeu FHURSHeUS -

2 wsafipésrar saf QL eaad®d |

3. ugrFmug g sanet GEirgena ‘I_T)I_;J_‘;g;lt.n D ETLD aq&rrrma;g;ﬂl_ﬂ@'lbg (oL Qu,rj)uuu_gj

4

wrbley |TFThISRISET u@&rru_lg;‘ef,]g)@ H auprii@d o fen ublésiud.L g

Qeupdie sflwirer sapm erg?

Ay 1 oM 2 . _ B) 1,2wopb3
€ 2, 3wpmb4d d D) *1 wHmb 4

75 . GS17
[Turn over

Click here to Visit >> www.govtjobsnet.com




197. In w‘hich.year, the Lokpal Biil was not introduced in tlhe parliament?
&) 1968 ‘ ’ . (B 1971
_ (C) 1985 (.]?6) 1978
&Cip Eg;ﬂﬁlfﬂL@dTa{‘ e Haefia Caongumd GBS TS i b &lﬂ@aﬁu@ggaul._eﬂd)mm?
A) 1968 . B) 1971 -
(Cy 1985 ' (D) 1978
198. Which of the following instit.utions have been setup by Govt. of Inc.iia to check miscoxliduct,
malpractices, corruption and misdemeanoml:'on the part of public servants?
1. Central IVig:ilam:e Commission
2. Lokpal ' ’
3. . Spegial PoIicg Establishment
4‘ Central Bureau of Investigﬁtion :
Choose the correct answer by using the codes given below :
A 2 a'nd 3 o : ) (B) 1land4 ‘
(%) ‘3and4 ' ‘ ; Wl,aandtg
sl venflsafled LamilyRGeanflss sauprar pLgmg. .gg,srr wrprLib Gl&u'_lgs'u‘. oarpen, eflid Bmed
Gumenm L  SeumTer QeudseEnssres GEHu  JTFTUED SpEsaTL JThE ey saman
q;‘gu@éﬁus‘rr’a;g,j?
L AW Leanmiicy §enm (<, enenTiLiD) -
2. Gemdwumb S
3. Aply sTeud glewm
4 wphusaasgep
£Gp Gla:rr@muuf_@drm @gﬂuﬁ@saﬂeﬂ@;ﬁg silwren ellen_anwis CoibEsH.
(A) 2LPDQ]Lb‘3 : . - (B) ling')gn_bfl _
(C) 3 wpoyid 4 | D 1,3 uwpmbdd '
GS17. .. . % . o O
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199,

200.

Which one of the following action amounts to violence against women?

I Physical assault _

IL. Creating hostile atmosphere at work/home

I11. 'I“easing

IV. - Making humiliating/displeasing remark

(A) 1IandIlonly (B) I, II and III only
(). L II and IV only (D) IL I and IV only |
Sipsaar s Qswd waahor SEUDSEUSHE FFL_Tatig) ? .
I o L6 fHwrs gienmsgeus )

II. uanfliyfluyh L sde /e 1q 6 Glmg)juurrsm GLpane q;gu@g,g,;a.@

. Gsdl Qaiaig

IV.  sawvrau@sgeg/@Paurs Cuaag

(A) TopgodIl ol @on (B) 1, II whmd 11 6L Gib
(© LI wpgd IV ol @b

(D) I, IIT wpgits IV wi @b

Which one of the following is/are wrongly matched?

(a)
(b) -
(©

(d)
(A)
©)

921 Feb. 1947
15 Oct. 1949
26 Nov. 1950

24tk Jan. 1950
Both (a) and (¢) are wrong
Both (b) and (c) are wrong

1.

Submission of the report by the Drafting
Committee to the Constituent Assembly

Acceptance of the proposal of  the
Drafting Committee y

Members of the Constituent Assembly
appended their signature )

The Constitution was adopted
(B) Both (a) and (d) are wrong

{Dﬂ Both (c) and (d) are wrong

Bipsaet_ ereneu/eTeneusar sl Lims Banaesal L efldmea?

(a)

(b

(0

(d)
(A)
©

21, Qureuft 1947
15, H&GLruft 1949
26, eubuT 1950

24, smeneufl 1950
(2) wppid (€) gaup

- (b) wipgid () saum

L.

1o

Srflweewly Bl @@eﬁh_m'émﬁlémﬁ
gonYs&suulLg)
flEms sunrilss Gopelen a;@g;g;a;eam THOé
QamemariT i

spfuamoly Hiremus @upeier Lguulﬁlarrr&;m
Sifsansuiler nabwipsAl Lmi

@jFflweven by SupauliuL g
B) (a) wpgd (d) seump

D) (c) whpmd (d) saupy
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